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BENGALI LETTER WRITING, DRAFTING OF REPORTS, PRECIS WRITING,
COMPOSITION AND TRANSLATION

PAPER-I
Time Allowed — 3 Hours ; Full Marks — 200

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

~ The figures in the margin indicate marks for each question.
Do not wrile your name, address etc. anywhere inside the answer book.
Write X, Y, Z if necessary.
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[tis very interesting to study the coming of the Aryans to India. You can find out a lot about them

from our Sanskrit books. Some of these like the Vedas, must have becn written about the time. The
oldest Veda is the Rig Veda and you can form some idea from it of the past of India which the
Aryans occupied then. ,

HINDI

LETTER WRITING, DRAFTING OF REPORTS, PRECIS WRITING,
~Svvsv COMPOSITION AND TRANSLATION
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[Write a letter in about 150 words (any one)(Write XYZ for Name and Address)] :
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40

. Trafefea faw w200 =it # w duca v fafa (Write a report within 200 words): 40

= T A iR TR fei

. Tfetad meiw F1 axiw faf@y (Write a précis of the following passage in Hindi)(use special

Précis sheet provided for the purpose): 40
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2022
ENGLISH LETTER WRITING, DRAFTING (.)I-' REPORT, PRECIS WRITING,
COMPOSITION AND TRANSLATION

) PAPER-1I
Time Allowed — 3 Hours Full Marks — 200

If the questions attempted are in excess of the prescribed number, anly the questions
attempted first up to the prescribed mumber shall be valuwed
and the remaining ones ignored.,

1. Write an essay on any one of the following lapies: 40

_{a¥Modem life in the Shadow of Artilicial Intelligence.
(b) Representation of Women's Empowerment in Literatures of the World.

(¢) Search Engines on the Internet : Lord or Devil?

Draft a report on the usclulness of making a year's internship in industry a compulsory part of
40

]

college education (within 200 words only).

Compose (within 150 words) any one of the following letters using A, B. C instead of name and
40

L)

address:
(a) To the Director General, NCC Regiment, Indian Army on the need to make NCC training a

part of education in school.
_&7) To the Editor of a reputed English newspaper highlighting the insccurity faced by elderly
people in Indian Socicty today.

4.) Attempt a précis of the following passage (use special précis sheet provided for the purpose) and
add a suitable title: 35+5=40

(The medieval word for a Poet was a Maker, which indeed is the > original meaning of a Poet. Itis one
of the points in which Greek and medieval simplicity m:.lrly touch. There was never a man who was
more of a Maker than Chaucer. He made a national language; he came very near to making a nation.
At least without him it would probably never have been either so Fnc a language or so great a nauon)

fShaI».eﬁpcm and Milton were the greatest sons of their country; but Chaucer was the Father of his
country, rather in the style of George Washington. And apart from that, he made something that has
altered all Lurupc. more than the Nc.wspapc.r the ‘Novel'. He was a ‘novelist’ when there were no
novels. I mean by the novel the narrative that is not primarily an ancedote or an allegory, but is
valued because of the almosl accidental variety ol actual hunin ¢ characlers.)

But despite all this, what seems to be altogether missed is the greainess ol Chaucer. Men emphasize
the obvious things about him; they call him the Father of English Poetry, but only in the sense in
which the same title has been given to an obscure Anglo-Suxon like Caedmon. They say that Chaucer
marks the moment when our lanpuage began to be formed out ol French and Saxon elements; but
they see nothing elemental about the man who did so much to form it. They say that Chaucer
borrowed from Boccaccio the notion of a frame work of stories; and they .ulmlt that he brightened it

a litle by giving more personality to the tellers of the Canterbury Tules. They admit that this

fourteenth-century man was acquainted with the nature of a joke; they concede a certain courtesy
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; : ich Chaucer made
and urbanity, and then generally tumn to digging up the old original dull stories T.hplza]-:-h_l:c et

intersting. But never does his name actually sound as a thunder-clap or a trum

...... i ’ as not yet
of Dante or of Shakespearc. It may seem fanciful to say so, but the name of Chaucc:l' hEngl_i'; f{is
completely achieved the sound of a serious thing. It is partly the popular sense that ear l;F;vili;;;i
a sort of pidgin English. It is partly the pedantic prejudice that medieval civilization RS .
- Translate any one passage given below into English: ®

(Who opted Bengali for Paper-1)
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Translate the Hindi passage into English (any one):

(Who opted Hindi in lieu of Bengali for Paper-I)
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_ 1. The Jallianwallah Bagh Massacre oceured
in

(A) 1920

(B) 1919

(C) 1921

(D) 1922

2. The Indian Association was established in
the year
(A) 1875
A{B) 1876
(Cy 1880
(D) 1885

3. Akbar was born at
(A) Pathankot
(B} Sialkot
{C) Amarkot
(D) Nagarkot

4. The autobiography of Babur was known as
{A) Chach Namzh
(B) Firdaus Namah
(C) Babur Namah
(D) Shah Namah

5. The “Three Jewels"” are to be found in
(A) Vaishnavism
} Buddhism
(C) Judaism
(D) Jaimsm

C2

—— R T T

_ 6. The capital of the Magadhan Empire under
Bimbisara was

(A) Girnar
AB) Girivraja
(C) Gauda
(D) Gujarat

7. What was importance of Lothal?
{A) Port
(B} Granary
(C) Zoo
(D) Market

8. Thecourt customs of Sijda and Poibos were
introduced by

{A) Quiubuddin Aibak
(B) Alauddin Khalji
(€) Ghiyassudin Balban
(D) Ibrahim Lodi

9, The Hindu College was founded in the year
(A) IBIS
(B) 1816
_(ey 1817
(D) 1819

10. The Surat Split in the Congress Party
happﬂﬂﬂd in
(A) 1906
By 1907
(C) 1908
(D) 1909
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11. The first ruler of the Pala Dynasty was
(A) Devpala
(B) Dharmapal
() Gopal
(D) Tejpal

12. The Saka Era was started by
{A) Bimbizara
(B) Ajatasatru
L€y Kanishka
(D} Menander

13. Karshapana was a type of
(A) Metal
(B} Paper
Currency

(D) Race

14. The Maurya Emperor who propounded the
concept of “Dhamma” had been
(A) Chandragupta
(B} Bindusara
() Ashoka
(D) None of the above

15, The last Buddhist Council was held at
(A) Samath
_(BY Kundalvan
(C) Saket
(D) Ceylon

16. The twenty third Tirthankara was
LAY Parshvanath
(B) Vardhaman Mahavira
(C) Gautam Buddha
(D) Ajatasatru

17. The Vedas were
{A) Sacred Book of the Aryans
’(E} Genealogical History
{C) Artefacts
(D) Language

18. The First Battle of Tarain took place in
(A) 1191 AD
"(B) 1176 AD
{C) 1105 AD
(D) 1155 AD

19. ‘Neel Darpan’ was written in the context of
(A) Sepoy Mutiny
(B) Deccan Riots
LET“ Indigo Revolt
(D) Ramosi Rebellion

20. Bimbisara was from the
(A) Gupta Dynasty
(B} Haryanka Dynasty
(C) Maurya Dynasty
(D) Ehilji Dynasty
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(A) 1205 AD
(B) 1215 AD
(C) 1206 AD
(D) 1207 AD

22. Where was the figure of the dancing girl to
be found?

{A) Indus valley
(B) Araku valley
(C) Kashmir valley
(D)) Nubra valley

23. The First Partition of Bengal took place in
(A) 1910
(B) 1911
A{C) 1905
(D) 1906

24, The Sadak-i-Azam was constructed by
(A) Akbar
(B) Bahadur Shah
(C)_Babur
D) Sher Shah

25. The Gandhi-Irwin Pact was concluded in
(A) 1930
1931
(C) 1932

Dethi Sultanate was established in India in

Cy

26. Abdul Hamid Lahori was the author of
Padshahnama
(B) Razm Namah
(C) Igbal Namah
(D) Tabagat

27. Who was known as the “Indian Napoleon™?
(A} Kumargupta
(B) Skandagupta
() Bamudragupta
(D) Yasodharman

28. The Kushanas were originally from
(A) Greece
(B) Iran
ACGT Central Asia
" (D) Europe

29, Nawab Alivardi Khan was the grandfather
of

{A) Shujaud Daulah
{BY Siraj ud Daulah
(C) Sarfraz Khan
(D) Mir Qasim

30. ﬁcjﬂadﬁ order of Sufis was founded by
$hah Niamatullah CQadri
(B) Baba Farid
(C) Bakhtiyar Kaki
(D) Shah Jalal

(D) 1933
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3. The "Bero Sona Masjid" in Bengal was
built by

/(A) Alauddin Hussein Shah
(B) Nusrat Shah

(C) Shah Shuja

(D} Shah Jahan

32. The Battle of Plassey was fought in
(A) 1756
(B 1757
(C) 1780
(D) 1790

33. The “Alai Darwaza™ was constructed by
(AY Alauddin Khilji
(B) Mugammad Bin Tughlag
(C) Sikander Lodi
(D) Tbrahim Lodi

34. The Allahabad Fillar Inscription dates back
to the

(A) Maurya period
(B} Gupta period
(C) Kushan period

(D) Saka period

35, The Battle of Hydaspas was fought between
(A) Bimbisara and Ajatasatru
(B} Bimbisara and Porus
E,C'}"'Pﬂms and Alexander
(D) None of the above

C-5

36. Whowas knownas “the Akbar of Kashmir™?
(A) Sikander Shah
¥ "Zain ul Abedin
(C) Akbar
(D) Muhammad Shah

37. The Tattwabodhini Patrika was founded by
{A) Raja Rammohan Roy
(B) Pandit Iswar Chandra Vidyasagar
;;(3,’}* Debendranath Tagore
(D} Keshab Sen

38. The first ruler of the Maurya Dynasty was
" (A Chandra Gupta Maurya

{B) Bimbisara

{(C) Kanishka

(D) Megasthanes

39, The book *Indika” was written by
{A) FaHien
(B) Hiuen Tsang

&) Megasthanes
(D) Asvaghosa

40. The capital from Delhi to Daulatabad was
shifted by

(A) Alauddin Khilji

(B) Bakhtiyar Khilji
Muhammad Bin Tughlag

(D) Akbar

Please Turn Over
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41. The Vijaynagar State was founded by

(A} Harihara ang Bukka
(B) Chenna and Pedanna
(C) Tiruvallyvar
(D) Malik Ambar

41?]111: following is a Sufi order:
—" (A) Namdhag :
(B) Kirpandhar
LC) Auliya
(D) None of the ahove

43. The Permanent Settlement was passed in
the year

(A) 1803
(B) 1813
_AC) 1793
(D) 1834

44, The market control regulations were
introduced by

.;P;] Alauddin Khilji
(B} Balban
(C) Babur
(D) Sikander Lodi

45. The theory of Radical Humanism was put
forth by

(A) Subhas Chandra Bose
(B) M.N. Roy

=" (C) Karl Marx
(D) Nehru

46. Sufi orders were generally known as
(A) Sivasa
(B) Virasat
(C) Hukumat

}Dﬁ’ﬂi]sitah

47. Abul Fazl was the court poet of
(A} Babur
LSBT Akbar
(C) Shah Jahan
(D) Jahangir

48. Who did Mahatma Gandhi describe as his
Political Guru?

(A) Bal Gangadhar Tilak
BT Gopal Krishna Gokhale
(C) Ananda Mohan Boge
(D) Rajnarain Bose

49. The Govt. of India Act was passed in
(A) 1946
(B} 1938
FBT 1935
(D) 1936

30. The following was a Mahajanapada:
}&}"Magadha
(B) Saurashtra
(C) Pragjyotishpur
(D) Sialkot
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51. Gautam Buddha was from
[:l,ﬂl'.lﬂ:

(A) Vajji
(B) Sakva
{C) Kushan
(D) Saka

the following

52. Sir Thomas Roe had visited the court of
{A) Akbar

(B} Shah Jahan
(€} Jahangir
(D) Babur

53, TheGarudaPillarat Besnagar was endowed
by

‘_{A:]"'Htlin-dums
(B) Megasthanes
{C) Bimbisara
(D) Ajatasatru

54. 'Arthashastra’ was written by
(A) Chandragupta
(B) Bimbisara
(Cy Kautilya
(D} None of the above

55, The Chauri Ghaura incident took place in
(AT 1922
(B) 1923
(C) 1924
(D) 1925

56. The Congress Socialist Party was founded
in (he year

(A) 1935
(B)-1934
T1C) 1936
(D) 1937

57. The Buddha gave his first sermon at
{A) Gaya

{B) Samath
(C) Peshawar
(D} Karpataka

5B. Tamrahipta wasa
(A) River
(B) Canal
(€ Port
(D) Fort

59, Who was known as “Lakh Baksh"7
{A) Balban

(BY Qutubuddin Aibak
" (C) Bahlol Lodi
(D) Thrahim Lodi

60, Bal Gangadhar Tilak was the editor of
(A) Hindoo Patriot

(B) Hind Swaraj
KB Kesari '
(D} Anandamath

Please Turp (
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61. The Arab conquest of Sindh is depicted in 66. The First Battle of Panipat took place in
(A) Akbar Namah {A) 1520
(B) Aini Akbari (B) 1530
(C) Chach Namah (C) 1525
(I¥) Shah Namah Dy 1526
62. The Gupta Era starts (rom the reign of 67. The term “Sakari” was used for
{A) Chandragupta I }ﬁﬁ“ﬂhﬂndmgupl;ﬂ I Vikramaditya
(B) Samudragupta (B) Samudragupta
{C) Kumargupta {C) Kumargupta
(D) Budhagupta (D) Skandagupta

63. Raja Rammohan Roy was the founder of 68. The “Milinda Panho™ was a

{A) Bahujan Sabha (A) Scripture _ . ‘
EB'}'J-Bmhmn Sabha (B} Book on Philosophical discussion
(C) Jatiyo Sabha (C) Artefact

(D) Lok Sabha (D) Cinema

69. The Hindoo Patriot was edited by
{A) Manmohan Ghosh
(B Harish Chandra Mookherjee
{C) Debendranath Tagore
(D) Acharya Binoba Bhave

64. The “Tarikh i Firuz Shahi™ was the wark of
{A) Abdul Khader Badauni
Eﬁj/ Ziauddin Barani
(C) Bhimsen Burhanpuri
(D) Tansen

70. The Non-Cooperation Movement g

65. The Battle of Buxar took place in the year launched in
(A) 1765 (A) 1930
(B 1764 (B) 1931

(C) 1795 e 1920
(D) 1800 (D) 1923



https://sahojpath.co.in/

Aryans was propounded by

71, The last ruler of the Maurya Dynasty was
(A) Ajatasatru
(B) Bimbisara
(C) Brihadratha
() Kakavarna

12 Sasanka was the ruler of
{A) Kanauj
(B) Pataliputra
(C) Gaur
(D) Assam

73. ‘Hind Swaraj’ was written by
(AY Mahatma Gandhi
(B) Pandit Nehru
(C) Rabindranath Tagore
(D) Tilak

74. Zabti was
{A) Currency
(B) Trade
(C) Customs
(D) Land Revenue System
~

75. The Central Asian theory of the home of the

},;v]“ Friedrich Max Muller
{B) Nirad Chaudhary
(C) Rakhaldas Banerjee

C-9

76. Shah Jahan had built the Taj Mahal in
memory of
(A)-Arjumzand Bano Begum
" (B) Anarkali
{C) Jahanara
(D) Rowshanarza

77. The land revenue system under Akbar was
systematized by

(A) Raja Beharimal

_(By-Raja Todarmal
(C) Raja Chunnumal
(D) Birbal

78. The firman of 1717 was issued by
_(A) Farrukhsiyar
(B) Jahangir
(C) Aurangzeb
(D) Jahandar Shah

79. The book written by 1bn Batuta was
(A) Saleha
(B Rehala
(C) Kitab ul Ibar
(D) Razm Namah

80. The Chinese pilgrim Fa Hien had visited

India during the reign of

_(AY Chandragupta 11 Vikramaditya
(B) Bimbisara

(C) Harshavardhan

(D) Risley

(I3} Kharvela

Please Turp Oy or
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81. The Eight-Fold path in Buddhism is known

86. The first woman ruler of the Delhi Sultanate
03 Wag
(A) Dharmachakrapravartana {A) Rabeya
(B} Ashtangik Marg (B) Rokeya
(C) Nirukta L) Razia
(D} Vimukis (D} Zubeida
82. The original name of Nurjahan was 87. Menander was a
(A) Luftunnissa {A) Kushan
(B} Khairunnisa By Indo-Greek
ﬁ:} Meherunnisa (C) Saka
(D) Raziya (D} Chinese
83. The author of “Harshacharit® was 88. “Sare Jahan Se Accha™ was wrilten by
(A) Nagarjuna (A} Sir Syed Ahmad Khan
(B}~ Banabhatta {B) Nawab Khan Bahadur Ahsanullah
{C) Aryabhaita uhammad Igbal
(D) Varshamihir

(DY) Abdul Latif

84. Mohenjodaro and Harappa belong 1o 89. Akbur defeated Hemu in the =
fA) Egyptian civilization

(A) First Battle of Panipat )
(B) Sumerian civilization (B) Third Battle of Panipat
(C) Mesopotamian civilization

Second Battle of Panipat
Indus valley civilization (D) Battle of Haldighati

85. Who was afflicted by the "Deccan Ulcar?

90. The oldest Veda was
{A) Akbar

"Rig Veda
(B) Babur (B) Sam Veda :
(€) Aurangzeb (C) Atharva Veda

(D) None of the above

(D) Avesta

Tdwy g i1



by
{A) David Hume
(B) Allan Octavian Hume
(C) William Wedderbum
(1) Henry Cotton
92. ‘Anandamath’ was written by

(A) Bankim Chandra Chattopadhyay
(B) Sarat Chandra Chattopadhyay
(C) Sarat Chandra Bose

(D) Dwijendralal Roy

03, Mukundaram was the author of
(A) Padma Puran
(B) Barsha Mongal
{C) Chandi Mongal
(D) Wone of the above

94, The All India Muslim League was founded
in
(A) 1904
(B) 1905
A€y 1906
(D) 1907

95, The capital of Kanishka was
Purushpura
(B) Sialkot
(C) Pathankot
(D) Bodhgaya

C-11

96. The greatest Kushan ruler was
{A) Menander
(B) Gondophernes
(C) Maga
ﬁ}’ﬁanishka

97. The Tamralipta Jatiyo Sarkar was setup in
{A) Bankura
(B) Birbhum
(C) Malda
D) Medinipur

98. Sati daha Bill was passed in the year
(A) 1830

(BT 1829
(C) 1831
(D) 1832

99, Tabagat i Nasiri was written by
(A) Sirajuddin
_(BY Minhaj us Siraj
(C) Khafi Khan
(D) Firuz Tughlag

100. Who was known as “Beloved of the Gods™?
(A) Kalashoka
(B) Bimbisara
(C) Ajatasatru
(BT Ashoka

Please Turn Qvyer



101, Which of the following system irrigates the
largest percentage of net cropped ared in India?
(A) Canals
" (B) Tanks
(C) Wells and wbe-wells
(D) River lift

102. Inwhichtypeof soil cottonis mostly grown?
(A) Red
(B) Regur
(C) Alluvial
(D) Peat

103. Which is the highest peak in the Zaskar
Range?
{A) Annapurna
(B) Kamet
“(C) K2
(D) Ewverest

104. Out of total 7 Union Territories of India
which one is the biggest in terms of area 7

(A) Delhi

(B) Andamans

(C) Dadra
(D) Puduchery

105, Which types of forests are found in the

C12

tdel India belongs wo?
(A) First stage
(B) Second stage
(C) Third stage
(D) Fourth stage

(11SCO)

(D} Bokaro Steel Plant

peninsular India?

109, The smallest Union Territory of India in
terms of area 15

{A) Chandigarh

(B) Daman & Diu
() Lakshadweep

(D) Puduchery

110. In India, it is known as the ‘golden fibre’.

southern slopes of the high Himalayas? Identify it

AT Wet deciduous
(B) Dry deciduous
(C) Tropical evergreen

{A) Cotton
(B) Wool
Juie

(D) Conifer evergreen

EEANET

(D) Silk

QM;)I“ which stage of Demographic Transit

jon

: 107, ThisIron & Steel company was tﬂtﬂb’fsh“fd
in Sakchi (now in Tharkhand) in 1909, Tdentify .

) Tatalronand Steel Company (TISCO)
(B) Indian Iron and Steel Company

(C) Vishakhapattanam Steel Plant (VSF)

108, Which is the largest river system in the .
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111 which of the following State has the

ximum number of towns according to Census of
fndia, 2011 ¥

(A) Tamil Nadu

(B) Maharastra

(C) Uttar Pradesh
(0} Madhya Pradesh

112. JNNURM was initiated by the Governmen
of India in 2003, which comprises four components,
Which one was not included in the four major
components?

{A) Urban Infrastructure & Governance
(U1G)

(B) Basic Service for the Urban Poor
(BSUF)

(C) Integrated Housing & Slom
Development Programme (IHSDP)

(D) Atal Mission for Rejuvenation Urban
Transformation (AMRUT)

113. The main worker, according to the Census

of India, is a person who works for at least how
many days in a year?

{A) 180 Days
_(B) 181 Days
(C) 182 Days
(D) 183 Days

114, Which ofthe following pass connects Simla
with Tibet?

(A) Zozila
(B) Thang La
{C) JelepLa

H{D','I Shipki La

115.) Which one of the following tribes in India
has no contact with the outer world?
{A) Sentinelese
«_(By Gond
(C) Toto
(D) Apatani !

116. Kathiawar Peninsula is an example of
(A) Emerged shoreline
. (B} Submerged shoreline
(C) Ria shoreline !
(D) Dalmatian shoreline

117. Kyelleng-Pyndengsohiong, Mawthabah
(KPM) uranium mining project is located in the
State of

(A) Armunachal Pradesh

__{BJ Nagaland f
(C) Meghalaya
(D) Mizoram

118. Which of the following is the longest west
flowing river in India?
(A) Tapi
(B) Luni
_(€) Narmada
(D) Bhagirathi

119, Which among the following soils is primarily
infertile?

(A) Regur

(B) Alluvial

(C) Bangar
/(D’j Lateritic

gijl. s per the Indian Standards Institution (ISI)
of

the area of West Bengal lies under the
Eﬁll_:)wing seismic Tone:

(A) Tand II
(B) II and 111
(C) I and TV
(D) IV and V

Please Turn Over



121. Which one of the following is the oldest
rack found in India?

(A) Granite
(B) Bauxite
(C) Khondalite
(D) Andesite

122, The north-eastern ‘Syntaxial Bend' was
formed near

{A) Nanga Parvat
(B} Sahyadri

{C) Namcha Barwa
(D) Amarkantak

123. The Godavari River originates from
(A) Amarkantak
(B) Nilgiri
(C) Siwara
() Trimbak

——

124, _Mat::h the following:

\_ .~ Listl List IT
(Vegetation Zone) (Rainfall)
I. Sub-Tropical Broad 1. 150 cm-300cm
Leaved hill forests
ll. Himalayan Moist 2. 75 cm-125 em
Temperate forests

[II. Sub-Tropical Dry 3. 150cm- 250¢m
Evergreen forests

IV. Montane Wet 4. 50cm-100cm
Temperate
I II I Iv
(Al 2 3 4
}E{ 4 1 2 3
)2 3 4 1
M3 4 .1 2

125. Name the newest district of West Bengal,
(A) Kalimpong
(B} Paschim Bardhaman

(C) Jhargram
(D) Alipur Duar
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Lll'ﬁ:, Which day in India is celebrated as the
National Girl Child Day'?
AA) 23 January
#__,{E‘_F' 24 January
(C) 25 January
(D) 26 January

127. Which State of India has the lowest
Percentage of its total area under forests?
(A) Jammu & Kashmir
(B) Bihar
(C) Tamil Nadu
/CD}" Haryana

128. Whichofthe following countries has longest
common border with India?

{A) China

(B) Myanmar
{C) Pakistan
}Dr" Bangladesh

129. The natural vegetation of the desert region
in India is called

(A) Halophytes

} Xerophytes
(C) Lithophytes
(I3} Heliophytes

130. In which of the following district of West
Bengal the Khoayior Badland topography is foungs
(A) Nadia
(B) Darjiling
(C) Uttar Dinajpur
irbhum



i3, The Singalila mountain range is situated on
(ke horder between West Bengal and

(A) Sikkim
(B} Nepal
(C) Assam
(D) Bhutan

132. Which iron and steel plant was established
i India with the cooperation of the UK?
(A) Bhilai
(B) Bokaro
(C) Durgapur
(D} Rourkela

133. Arrange the following States of India
according to their decreasing length of mainland
coastline:

(A} Tamil Nadu, Andhra Pradesh,
_Maharastra, Gujarat

.(B) Guijarat, Andhra Pradesh, Maharastra,

#

‘ Tamil Nadu
(C) Andhra Pradesh, Tamil MNadu,
Maharastra, Gujarat
. (D) Gujrat, Andhra Pradesh, Tamil Nadu,
Maharastra

134. Which one of the following constitutes the
largest physiographic division of the country?
(A) The Great Himalavan range
B The Northern Plain of India
{C) The Peninsular Plateau
(D) The Deccan trap

135. Which of the following citics does not have
a unit of HAL ?
(A) Kolkata
(B) Koraputl
(C) Masik
(D) Bangalore
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136. Whi':h I:l'f 1-h: fﬂllﬂwllng g]_'ﬂup ﬁr E_il'i_c_g_ i
connected by the Golden Quadrilateral?

(A) Delhi-Mumbai-Bangalore-Chennai
(B) Delhi-Ahmedabad-Jaipur-Srinagar
(C) D‘Elhi.—ﬁl:llkalﬂ-{:hennﬂi-Eanga]um
_ (D Delhi-Mumbai-Chennai-Kolkata

137. Name the longest dam in India?
(A) Bhakra Nanal
(B) Rihand
(€) Hirakud
" (D) Nagarjuna Sagar

=
."!133;.' Which of the following city of the South
India has started its first metro rail named as
‘Namma Metro'?

{A) Bengaluru

(B) Vishakhapattnam

(C) Secunderabad

(D} Kanpur

139, The Barakar river is a tributary of
(A) the Mahanadi
(B) .the Ganga
_/{E"_; the Damodar
(D) the Ajay

140, How many landlocked States inIndiadonot
have international boundary?

(A) Two
{(B) Four
(C) Five
(D) Six

Please Turn Over



141. As per the latest census, the least populous
Union Territory (UT) of India is
(A} Lakshadweep
(B) Daman & Diu
(C) Dadra & Nagar Haveli
(D) Andaman & Micobar

142, Palghat gap is situated between
(A) Nilgir and Anaimalai
(B} Vindhya and Satpura
(C) Dodabeta and Anaimudi
(DY} Dandakaranya and Bastar

143. Provisionof Urban Amenitics in Rural arcas
(PURA) was conceptualized by
(A) Dr. A, P. 1, Abdul Kalam
(B) Dr.C.N.R. Rao
{C) Dr. M. S. Swaminathan
(D) Dir. Verghese Kurien

144. The Nagarjun Sagar Multipurpose Project
i3 located in

(A) partly Telengana and partly Andhra
Pradesh

(B) partly Tamil Nadu and partly Andhra
Pradesh

(C) partly Kamataka and partly Tamil
Nadu

(D) partly Kerala and partly Kamataka

145. According to the Census of India, 2011, in
West Bengal, the highest literacy rate of population
was found in the district of

(A) Purba Medinipur
Kolkata

(C) North 24 Parganas

(D) Hawrah
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i it
146. Structurally, the Meghalaya plateauisa pa

of
{A) the Himalayas
(B) the Ganga Plain
{C)~the Chhotonagpur Plateau
(D) the Trans Himalaya

147. Whichofthe followingis the most important
source of fish catch in India?
(A) Inland natural fisheries
(B) Deep sea fisheries
(C) Continental shelf
(Y Off shore fisheries

148. Adityapur Special Economic Zone is famous
for
(A} Engineering and Machine Tool
(B) Wool Textile
(C) Automobile and Auto-components
(D) Dairy Products

149, Match the following:

List 1 List I
{Tribe Name) {Location)
"1 1. Toda l. Bastar
(4 I1. Adivasis 2. Nilgiri
311, Gaddis 3. Himachal Pradesh
. TV, Gond 4, Madhya Pradesh
) I 0O I IV
A)1 2 4 3
JBT2 4 3 1
©4 3 1 2
™3 1 2 4

150, Which of the following series of Indian
\satellites is used for LULC mapping?
(AT LANDSAT

(B) METEOSAT

(C) TRS

(D) INSAT




151. It is composed with newer alluvium and
forms the flood plain along the river. Identify it.
(A) Bhangar
(B) Khadar
(C) Reh
(D) Kallar

152, ‘Rice Bowl® of India is

{A) the Brahmaputra-Assam Valley
(B) the Krishna-Godavari Basin
(C) the Narmada Valley

(D) the Sindh Province of Punjab

153. India's HDI rank in 2018 was
(A) 120
(B) 130
(C) 141
(D 150

154. Thetypeofseitlementsin the Bhangar Plain
15 of type.

(A) cluster

(B) dispersed

(C) fragmented

(D) semi-dispersed

155. Majut;i,thalargestﬁverimislandissltuamd
in which of the following rivers?

}A’]’f The Brahmaputra
(B} The Ganga

(C) The Cauvery

(D) The Mahanadi
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156, Which of the following is an example of
[ransverse 1-'3“3}'?

(A) Kulluvalley
(B) Kangra valley
(C) Assam valley
(D) Srnagar valley

/157, IIn West Bengal, according to Census of
‘India, 2011, the highest number of census towns
(CTs) are found in the district of

(A) North 24 Parganas
(B) Howrah

(C) Hooghly

(D)} Barddhaman

158. Which of the following National Highways
(NH) connects Porbandar with Silchar?

(A) NH26
(B) NH 27
(C) NH 28
(D) NH 29

159. North-Western part of India receives winter
rainfall due 1o

(A) Nor wester
_AB) Western Disturbance

(C) Low pressure systems in the Arabian
Sea

(D) Cold waves

160. Which one of the following rivers has

onginated from the ‘Paglajhora’ waterfalls of
Kuerseong?

(A) Jaldhaka

_AB) Mahananda

(C) Sankosh

(D) None of the above

Please Turn Over



161. Which town was planned during the Second
Five Year plan?

(A) Gwalior

(B) Bokaro

(C) Bhopal

(D) Kanpur

162. How many official languages the
Constitution of India now recognizes?

(A) 20

(B) 21

(€©) 22

(D) 23

163. Farakka Barrage was constructed for the
purpose of
(A) supplying irrigation water in the lower
deltaic plains.
(B) generation of hydro-electricity,

(C) water treaty between India and -

Bangladesh. o
JDJ' navigation in the Hooghly channel,

164. In which of the following rivers the Sardar
Sarovar hydro-electrical project is located?

{A) The Sutlej

(B) The Bhagirathi

{C) The Narmada

(D) The Rihand

165. The famous Vale (Valley) of Kashmir lies

between
(A) Greater and Lesser Himalaya

(B) Lesser and Siwalik Himalaya
(C) Zaskar and Himadri Himalaya
(D) Pir Panjal and Himadri Himalaya

™ T RN T

166. Which of the following projects has the
biggest underground power house?
(A} Salal project
__(B) Nathapa Jhakri
(C) Bhakra Nangal
(D) Damodar

167. This soil occupies the largest geographical
area in India, Identify it.
(A) Red
(B} Black
HﬂE}l'ﬁlIuvial
(D} Lateritic

168. The river to form a boundary between
Rajasthan and Madhya Pradesh is
{A) Yamuna
(B) Gomri
(C) Ken
JD}"'Ehﬂmhai

.169. In India sandalwood is mostly found in the

State of
(A) Madhya Pradesh

(B) Mzrhamsrra
{C) Karnataka

'_(Bj/ Kerala-

170, KanhaNatiun'a} Park is located under which
of the following bio-geographical regions?
{A) Tropical sub-humid forest
(B) Tropical humid forest
{(C)' Tropical dry forest
Tropical monsoon forest
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171. Which of the following States got the
maximum benefits of the Green Revolution?

(A) Uttar Pradesh and Bihar
(B} Rajasthan and Haryana

{C) Punjab and Rajasthan

(D) Punjab and Haryana

172. Which is called the finest natural harbour in
India?

(A) Marmagao

{B) Mumbai

(C) Chennai

(D) Kochi

173. Which State of India has the maximum
common boundary?
(A) Madhya Pradesh
(B) Chhattisgarh
(C) Bihar
}D}’ Uttar Pradesh

174. The Andaman and Nicobar islands are
thought to be the emergent peaks of a submerged
mountain range of :

{A) The Eastern Himalayas
(B} The Lusai Hill

_AC) The Arakan Yoma
(D) The Jayantia Hill

""H.

2175, InIndia, the decade known as the ‘period u-[
population explosion’ is
(A) 1921-1931 .
(B) 1941-1951 |
(C) 1951-1961

(D) 1981-1991

176. Where is the Zaskar range located?
() Between Ladakh and North Himalayas
=~ (B) BetweenCentral Himalayasand Nepal
(C) Between Central Himalayas and
Siwalik
(D} In the-Eastern Himalayas

177. iz also called the *Year of Great
Demographic Divide' in India.
(A) 1921
(B) 1931
(C) 1941
(D) 1951

178. Match the following:

List | List 11
{Wildlife Sanctuary) (Location}
‘L 1. Gir 1. Assam
~ IL. Dachigam 2. Uttar Pradesh
\ ML Kaziranga 3. Gujarat
mw. Bandipur 4. Kamataka
I I I IV
13 2 1 4
B 1 3 4 2
.2 1 3 4
ma4 3 2 1

."

i;h According to the Census of India, 2011, in
‘WestBengal, the lowest density of population was
found in the district of

(A) Darjiling
(B) Dakshin Dinajpur
(C) Bankura
(D) Purulia

180. The 'Pat’ or ‘Pat land’ is found in
(A) Karnataka Plateau
(B) Vale of Kashmir
(C) Meghalaya Plateau
(DY Chhotonagpur Plateau
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181. ‘Operation flood’ is related to which of the

following?
(A} To control flood
(B) Milk production
: (C) Crop production
(I3} Population control

182, Arrange the soils of India according to the

decreasing share of area they cover:
{A) Red. Alluvial, Black, Laterite
(B) Alluvial, Black, Red, Latenite
(C) Black, Laterite, Red, Alluvial
(D) Aluvial, Black, Laterite, Red

183. In India, the largest region hydro-electric
potential is
(A) the Himalayas
(B) the Western Ghats
~ (C) the Eastern Ghats
(D) the Satpura Range

184. “Sagarmatha’ is the regional name of which
of the following mountains?

{A) Karakoram
iB]'Himaiaya
(C) Sahyadri
(D} Khasi

185. Which place in India should receive the
maximum INSOLATION in the month of

January?
{A) Delhi
(B Amritsar
(C) Chennai 2
_AD) Kanyakumari
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186. Little Andaman is scparated from the Great
Andaman by which of the following geographical
entity?

(A) Indira Point

]“ﬁ uncan Passage
(C) Saddle Peak
(I3} Pico Island

187, The biggest thermal power station of West
Bengal is located at
(A) Bandel
_(B) "Kolaghat
(C) Durgapur
(D) Farakka

188. Arrange the following religion of India
according decressing order of number as per Census
of India, 2011:

Y Christian, Sikh, Buddha, Jains
(B} Sikh, Buddha, Christian, Jains
(C) Christian, Sikh, Jains, Buddha
(2} Jains, Christian, Sikh, Buddha

189, Match the following:

List 1 List 11
(Pass Name) (Location)
Tj"‘,I. Burzila l.. Jammu-Himachal
' Pradesh
1 II. Baralacha 2. Arunachal Pradesh-
! Myanmar
\A TML. Niti Pass 3. Srinagar-Gilgit
2' IV. Dihang Pass 4. Uttarakhand-Tibet
I I I Iv
(Ayd4 2 1 3
By1 3 4 2
', 2 4 3 1
\,,{DJ"E 1 4 2
.-':"'FF

190, ) Which ethnic group first entered into India?
L- (A) Negrito

(B) Proto Australoid

A{C) Mongoloid

(D) Nordic




191. The Standard Meridian (82°30°E) of India
does not pass through

(A) Maharashtra
(B) Chhattishgarh
(C) Odisha

(DY Andhra Pradesh

192. Geologically India is a part of
{A) Angara Land
(B} Gondwana Land
' (C) African Shield
(D) South Asia

( Iﬂa.jTh: British Island in the Indian Ocean that
I"prnviﬂa.ts military support to USA and UK 1s

(A) Diego Garcia

;E}*Madagascar

{C) Mauritins

(D) Philippine

194. Which of the following regions does have
the highest population density as per 2011 Census?
(A} The Punjab Plain
(B) The Upper Ganga Flain
€ The Ganga Delta
(D)) The Brahmaputra Delta

-{ﬂs. \ Tharkhand ranks third after which one of the
hllmﬁiing group of States in the availability of coal
reserve i India?

(A) West Bengal and Chhatisgarh

_{Bﬁf Odisha and Chhattisgarh

(C) Odisha and West Bengal

(D) Chhatisgarh and Karnataka

L1

=
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196, Which of the following States has three
mega cities now?

(A) Uttar Pradesh
(B} West Bengal
(C) Gujarat

(D) Maharastra

197. Which State of India has the maxirmum
number of tiger reserves?
(A) Assam
(B) West Bengal
(C) Maharastra
ﬂj" Madhya Pradesh

198. In India, local atmospheric disturbances
during the summer s¢ason are associated wlith
certain geographical areas. Which of the following
pair is incorrect?

{A) Loo - Punjab

_{B) Mango Shower — Odissa
(C) Andhi — Uttar Pradesh
(D) Nor'wester — West Bengal

199. The first passengertrainin Indiaran between
(A) Bombay and Thane
(B) Bombay and Pune
(C) Bombay and Nasik
(D) Calcutta and Serampore

200. According to the Census of India 2011, the
highest urbanization took place in which of the
following States?

(A) Maharastra
(B) Goa

amil Nadu
(D) Kerala
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\/l. Which one is
S not a pollutant normall
() Hydrocarbon 4

(B) Carbon dioxide
(C) Carbon monoxide
(D) Sulphur dioxide

/2. Whichone of the follo

) wingisnotanaturally-
occurrin 4
Besiths gelement that may be hazardous to human
(A) Lead
(B) Radon
XC) Phthalate - -
(D) Mercury

3. Where was the 4th meeting of the “National
Start-up Advisory Council” (NSAC) held?
(A) New Delhi
(B) Mumbai
(C’) Bengaluru
(D) Hyderabad

.4 Which of the following types of
unemployment is most common in agricultural
sector?

(A) Seasonal Unemployment
(B) Frictional Unemployment
«C) Disguised Unemployment
(D) Voluntary Unemployment

J In coming years, skin related disorders will
be more common due to
(A) water pollution
«(B) depletion of ozone layer
(C) pollutants in air
(D) use of detergents

\»f{Which metal of the following is powdered,
suspended in oil and used as paint?
(A) Fe
(B) Sn
&C) Al
(D) Ag

. Study of inter-relationships between
organisms and their environment is

WA) ecology
(B) ecosystem

(C) phytogeography
(D) ethology

8. Whichone of the following type of pollution
is cultural eutrophication?

(A) Noise pollution
(B) Thermal pollution
(C) Soil pollution
D) Water pollution

9 DDT and bleaching powder are the
compounds of

(A) S
(B) P
W) Chlorine
(D) As

10. Which European country recently legalised
same-sex marriage, becoming the 30th country in
the world to do so?

(A) Switzerland
(B) Italy

(C) Portugal
(D) Spain




11. Citric acid can be produced [rom crude
sugar by arobic fermentation using the enzymc:
(A) Amylase
(B) Lipase
(C) Thiobacilla
(D) Aspergillus niger

12. Theclosely related morphologically similar
sympatric populations, but reproductively isolated,
are designated as

) clones
'T(B) sibling species

(C) clines

(D) demes

ﬁ. Which one of the following would most
directly prevent a dead zone from forming in a
water body that is already experiencing
eutrophication?

(A) Increase the O, concentration in the
water
(B) Lower the nutrient levels
(C) Increase the amount of algae and
phytoplankton
D) Increase the amount of bacteria that
decompose dead organic matter

4. Asof 2021, which actor holds the record of
receiving most Filmfare awards for Best Actor?
‘Cﬁ.) Dev Anand
(B) Raj Kapoor
) Dharmendra
(D) Dilip Kumar

A5. Minor gypsum is added to cement clinker
during its grinding in order to
(A) increase the plasticity of the cement
paste
(B) decrease the plasticity of the cement
paste

(€) increase the plasticity and increase
initial setting time of the cement paste

(D) reduce plasticity and quick setting of
cement paste

CSM(C)8/22

J6. The velocity profile of a liquid flowing
through a capillary is

(A) Straight line

(B) Circular arc

(C) Hyperbolic

y) Parabolic

17. Which of the following super conducting
material has the highest critical temperature and
highest critical magnetic flux density?

(A) Lead

(B) Nb—Zr alloy
(C) Nb,Ge

(D) YBa,Cu,O,

. Which one of the following would be
described as anthropogenic?
(A) Waterbacking up behind a beaver dam
¢B) The dinosaurs going extinct
(C) Logging a forest
(D) A mudslide burying a stream

J‘)/. Which of the following solid waste disp.
method is ecologically most acceptable?

(X) Land fill
(B) Incineration
(C) Pyrolysis
(D) Composting

Z0. Whichoneof the followingis notapredicted
consequence of global climate change?
JA) Spread of discases carried by insects,
such as malaria.
(B) Rise in sea levels.
(C) Increases in the global average airand
ocean temperatures.

(D) All of the above

Please Turn Over
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\21. Which one of the following is associated

with the issue of: control and phasing out of the use
of ozone depletin g substances?

(A) Bretton Woods Conference
{(B) Montreal Protocol

(C) Kyoto Protoco]
(D) Nagoya Protocol

22. The Nobel Prize for C
been awarded for develop
molecules known as

(A) Altered DNAs

(B) Altered mRNAs

(C) Asymmetric Organocatalyst
(D) None of the above

: hemistry 2021 has
Ing anew way forbuilding

23. In clinical laboratory thin layer
chromatography (TLC) is used to identify:

&) Illicit drugs
(B) Poisons

(C) Inks

(R) All of the above

NZ‘{ The material successfully used as induction
core is
(A) Garnet
@) AlNico magnet
(C) Ba-Sr ferrite
(D) Ni-Zn ferrite

25. What is the name of the new model of
Sustainable Development of Rivers proposed by
the Government of India?

(A) Namani Bharat
(B) Arth Ganga
(C) River SDG
(D) Namani Nadi

26. India imports maximum gold from which
country?

(&) Switzerland

(B) UAE

(C) South Africa

(D) Brazil

/27. What is the primary cause of ocean
acidification?
(A) Atmospheric CO,dissolving in ocean
water.
(B) Increases in acid rain.
(C) Increased erosion of acid-containing
rocks.

(D) Water draining into the ocean has a
higher pH from industrial pollutants.

28. Oil of winter green is
(A) Acetic acid
(B) Benzoic acid
) Methyl Salicylate
(D) Phthalic acid

29, Thereal name of Gulzar, the noted poet and
lyricist is '
(A) Sampooran Singh Kalra
(B) Sadanand Singh Kalra
(C) Surjeet Singh Kohli
(D) "Probodh Chandra Bhatt

30. Green chemistry uses following oxidising
agent for clean oxidation

(A) K,Cr,0,

(B) NH,NO,

© Kzszos

(D) Aqueous H,0,



1. Hydraulic press is based on
(A) Archimedes’ Law
B) Pascal’s law
(C) Reynold’s law
(D) Bernoulis’ law

2. Current in a circuit is wattless when phase
\fference between current and voltage is

(A) 0°
B) /2
C) n

(D) -n

\}5. Which one of the following terms describes
the complete set of chemical reactions that occur
within cells?

(ﬁd Metabolism

(B) Cellular respiration
(C) Calvin cycle

(D) Bio energetics

34. Plantssuchas Prosopis, Acacia and Capparis
represent examples of tropical

(A) deciduous forests
(B) evergreen forests
(C) grass lands

(D) thorn forests

35. The main hindrance of nanomaterials is
(A) large surface area to volume ratio.
(B) uniformsizedistributioninnanometer
range.
W) coarsening effect from ostwald
ripening or agglomeration on aging.
(D) even morphology.

C-5 CSM(C)8/22

A0. National Science Day is observed on
(A) IstJuly
(B) 14th November
JE) 28th February
(D) 5th September

\A/'?' . Phosphate pollution is caused by
(A) sewage and phosphate rock
(B) sewage and agricultural fertilizers
(C) phosphate rock only
D) agricultural fertilizers only

J8. The Rourkela Steel Plant is located on the
bank of

(A) Bhadra River

(B) Suvarnarekha River
(C) Damodar River
«D) Brahmani River

\39” Which of the following is a secondary
pollutant?

_A) PAN
(B) Aerosol
(C) CO
(D) CO,

Jﬁf Which of the following is known as inorgaic
graphite?

(A) (BN),
&B) B3N3H6
(©) Si,

(D) Si,N,

Please Turn Over




CSM(C)8/22

w1,

Pyramid or nun
(A) speciey in an areq
(B) individuglg ina Communijqy
W) individualg ina tropic-leye]
(D) a Communiy

wers degls with number of

subspeciey in

42. Which one of the follow
an emerging discase?
(A) Malaria

WB) Ebola

(C) Cancer

(D) Heart disease

ingisan example of

n{.‘i Which university was sou ghttobe converted
nto Gati Shakti Vishwa Vidyalaya ag per a recent

bill passed in the Lok Sabha?
) National Rail ang

Transportation
Institute (NRTI)
(B) BITS Pilanj
(C) Indira Gandhj Institute of

Development Research
(D) IIT Hyderabad

\514/. Thick paste of cement, sand, stone chips
and water is

WA) Mortar

(B) Concrete

(C) Reinforced Cement Concrete
(D) Monoliths

\55 The process of zone refining.is used for
ultra purification of

(A) Si
(B) Ge

(C) Ga
\QKJ All of the above

6. Zencer diode is used as
(A) Coupler
AB) Rectifier
(C) Amplifier

IvH{) Voltage regulator

[

7. Which one of the following describes the
use of organisms to control pests?

(A) Bioremediation

~B) Biological control

(C) Species niche partitioning
(D) Vector control

V8. On which date, Constituent Assembly of
India met for the first time?

(A) June 3, 1946
(B) July 6, 1946
(C) July 25, 1946
(D) December 9, 1946 B/

J&f Water soluble Vitamin is
(A) Vitamin A
(B) VitaminD
(C) Vitamin E

vD) Vitamin B complex

\S{Mention the organisation which released
the State of Global Climate 2021° report:
@() Niti Aayog
(B) NABARD
(C) World Meterological Organisation
(D) Food and Agriculture Organisation



51. A micro-organism is viewed through a
microscope and is determined 1o be made of a
single cell that lacks organclles. From this
information, which one of the following can you
Lom,]lldt.

(A) The organism belongs to Domain
Bacteria.

(B) The organism belongs to Domain
Eukarya.

(C) The organism belongs to Domain
Archaea.

D) The cell is prokaryotic.

\52. Bacteria that-feed upon decaying organic
matter in the soil would best be described as which
one of the following?

(A) Heterotrophic
B) Autotrophic
Fungi
WD) Cyanobacteria

fﬁé. An endocrinologist deals with
(A) Teeth
UB) Glands
(C) Epidemics
(D) Heart

é£ Which country has the largest muslim
population in the world?

(A) Pakistan
) Indonesia

(C) Iran

(D) Morocco

_;‘5 . Inwhichone among the following categories

of protected areas in India are local people nof

allowed to collect and use the biomass?
(A) Biosphere Reserves
(Br National Parks
(C) Wetlands declared under Ramsar
Convention
(D) Wildlife Sanctuaries
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J6. In what rate (he tem
atmosphere iy
house effect?

¥ 1°C
(B) 0.05°C

SE) 0.5°C
(D) 0.8°C

perature of eurth's
|m.redxmg per ycar due to Green

S57. Anticancer drug is
(A) Captopric
(B) Salicilin
(C) Aspirin
(D) Compothecin

B8, A bicycle in motion does not fall because
one of the following is conserved.

WA Linear momentum
(B) Angular momentum
(C) Kinetic energy
(D) All of the above

59, For individuals living in areas where no
freshwateris available, which one of the following
would produce water that could be used for
drinking?

.«(A) Desalination
(B) Greundwater mining
(C) Sublimation
(D) Transpiration

60. Under how many themes, the Nadi Utsav
2021 is being celebrated in India?

(A) Two
(B) Four
(C) Six

(D) Seven
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61. Whichofthe following is
drug?

abranded narcotic

(A) Diazepam
(B) Morphine
(C) Ibuprofen
(D) Mestranol

“062. How many items are there in the 11th
Schedule of the constitution of India?

(A) 27
(B) 28

L) 29
(D) 33

63, Which state tableau was voted as the best
among the States/UTs in the ‘popular choice’
category in Republic Day, 20227

¢A) Uttar Pradesh
(B) Assam

(C) Maharashtra
(D) Karnataka

“64. Use of polished rice in human diet causes
the following disease
A) Night blindness
(B) Color blindness
(C) Goitre blindness
(D) Beriberi blindness

65. The optimum temperature for sludge
digestion is
(A) 10°C
(B) 25°C
(C) 37°C
(D) 50°C

C-3

6. Metallic bond is not characterised by

(A) Opacity

(B) Ductility

(C) High conductivity
D) Directionality

can be abated by

67. What type of noise ey

providing lining on walls and ceiling with s
absorbing material?

(A) Source noise

(B) Air borne noise

(C) Structural noise

D) Reflection noise

W8, Bleeding is stopped by applying FeCls
solution because

(A) blood starts flowing in opposite
direction.

(B) reacts with blood and forms solid
which seals the blood vessels.

«C) blood is coagulated and seals blood
vessel.

(D) None of the above

9. Brass is the alloy of
MA) Cu & Zn
(B) Cu & Sn
(C) Cu & Al
(D) Zinc and Tin

. Who has been appointed as the President of
the Confederation of Indian Industry (CII) for the
year 2022-2023?

JA) Sanjib Bajaj
(B) R.K. Dinesh
(C) Alka Mittal
(D) Pawan Munjal
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71. In which year India International Science
Festival was held?
(A) 2016
(B) 2017
(C) 2018
(D) 2019

.ﬁ. The biggest ship building yard of India is
(A) Garden Reach Workshop, Kolkata
(B) Hindustan Ship yard, Visakhapatnam
(C) Mazagaon Dock, Mumbai
wD) Cochin Ship yard, Kochi

. In Minamata Bay Japan the animals which
remained free from Minamata disease, are

(A) dogs
(B cats
JX) pigs
(D) rabbits

. The study of the distribution of the world’s
species both in the past and in the present is known
by what term?

(A) Geology

(B) Biogeography

(C) Biodiversity

m Biogeomorphology

J§. Which oneofthe followin g processes would
remove nitrates from contaminated water by

converting it into nitrogen gas?
(A) Nitrification
(B) Nitrogen fixation
{6) Denitrification
(D) Assimilation

CSM(C)8/22

J6. “Satyajit Ray Lifetime Achievement” is
associated with
(A) Physics
\(K). Film and Entertainment
(C) Cricket

B Theatre

77. ArrackMovementor Anti-liquorMovement
was led by women in which state of India?
(A) Manipur
(B) Punjab
(C) Rajasthan
(D) Andhar Pradesh

/8. 2.0% solution of mercurochrome is used as
(A) Insecticide
(B) Fungicide
(C) Herbicide
D) Strong antiseptic

J9. Which country topped the Sustainable
Development Report 20217
(A) UK
(B) USA
(C) Germany

VGD) Finland

887 The formation of 0zone hole in the Antarctic
region has been a cause of concern. What could be
the reason for the formation of this hole?

(A) Presence of prominent tropospheric
turbulence; and inflow of CFCs.

{B) Presence of prominent polar front and
stratospheric clouds; and inflow of
CFCs.

(C) Absence of polar front and
stratospheric clouds; and inflow of
methane and CFCs.

(D) Increased temperature at polar region
due to global warming.
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_v,S'i. Polarisation of light proves the
(A)-longitudinal nature of light
) quantum nature of light
(C)_corpuscular nature of light

transverse nature of light

®

«82. Ifyouare concerned about bio magnification
of toxins, which one of the following would you
most want to avoid eating?

\(A) Tana (tertiary consumer)
(B) Seaweed (producer)
(C) Urchin (primary consumer)
(D) Sculpin (secondary consumer)

'/8/3. Which one of the following is not a site for
in-situ method of conservation of flora?

(A) Biosphere Reserves
JB/) Botanical Garden
(C) National Park

(D) Wildlife Sanctuary

_Bﬁ. Which one of the following is a biodiversity
hotspot in India?
\9{) Western Ghats
(B) Nandadevi
(C) Easter Ghats
(D) Aravalli

$6. Which one of the following is more
indicative of conventional agriculture, and not

sustainable agriculture?
(A) Biological control
(B) Intercropping
(C) Minimal tillage
(P Integrated pest management

i ect to
6. Contact angle of mercury with resp
1\
glass is
(A) 0°
(B) 90°
(C) <90°

D) >90°

on
87. World Pulses Day is observed globally

(A) 8 February
(B) 9 February
(C) 10 February
(D) 11 February

‘-'g& Which article of the Constitution of India

states that ‘no Citizen shall be denied admission

into any educational institution maintained by the
State or receiving aid out of State funds on grounds
only of religion, race, caste, language or any of
them’?
(A) Article 26
(B) Article 27
(C) Article 28
(D) Article 29

89. People and their culture that have existed
continuously dating back to atime before their land
was invaded or colonized by other societies are
known as

(A) Endemic
m Indigenous
(C) Exotic

(D) Incurable

0. The Paracin Open ‘A’ Chess Tournament
held in July 2022 in Serbia has been won by

~‘(4) R. Praggnanandhaa
(B) Alexander Predke
(C) Al Muthaiah

(D) Alisher Suleymenov
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?‘j, ‘RADAR’ stands for;
(A) Radio Detection and Ranging
(B) Ready Advanced Appliance for
Ranging
(C) Range Detection Appliance for
Airplane Ranging
(D) Ready Advanced Airplane Ranging

,Aé. Human ear is most sensitive to the sound of
frequencies ire between

(A) 100 - 500 Hz
(B) 500 - 5000 Hz
(C) 5000 - 10000 Hz
@) 10000 - 20000 Hz

~,‘9€. Which one of the following is not a
renewable source of energy?

\(A) Nuclear
(B) Wind

(C) Solar

(D) Hydropower

94, Which one of the following is not consumed
as an edible oil?
(A) Sesame oil
(B) Ricebran oil
(C) Palmoil
(D) Castor oil

J5. Which country is set to host the first tribal
nation’s summit since 20167
(A) USA
JB) India
(C) Russia
(D) Japan

CSM(C)8/22

96. Whichofthe following functions as pr;
standard? e

(A) KMnO,

(B) K,Cr,O,

(C) Sodium Thiosulphate
(D) EDTA

~97. Renewable source of energy is
JA) biomass
(B) coal
(C) petroleum
(D) kerosene

\ﬁ{ What is the meaning of coral bleaching?

(/&) Paling of coral color or decline in
zooxanthellae due to climate change

(B) Impacts of excessive sea trade on
fishing industry

(C) Both (A) and (B)

(D) None of the above

39’. Oxygen binding protein in body is
Hemoglobin
(B) Myoglobin
(C) Hemery Thrin
\()5) All of the above

J‘ﬁ. Which institution released a report entitled,
“Reforms in Urban Planning Capacity in India”?

(A) World Bank
ﬁi) Niti Aayog
(C) UNICEF
(D) UniFem
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HL. p ollavar:

river: M Projecy jy

r)&\) Cauvery

(B) Penner

(©) Krishna
) Godavari

Jﬂ?. Acid raing are Produced by
JQ) ?;::;‘lmml:]g and SO2 from burning
\{'ﬁ) €Xcess production

and coal gas
(C) excess release of carbop
incomplete Ccombustion

(D) excess formation of CO:a by
combustion and anim

associated with the

of NH, by industry

monoxide by

al respiration

103. Which'Indian city has prepared a. Draft
Regional Plan (DRP-2041)?

(A) Mumbaij
(B) Kochi
(C) Chennai
(D) New Delhi

104. Mohan Veena is associated with
(A) Pt. Vishwa Mohan Bhatt
(B) Doraiswamy lyengar
(C) Ayyagani Swamasundaram
(D) Zia Mohinuddin Dagar

\1};6'. Alzheimer’s desease is caused by

(A) interaction of Al with internal organs
of the body.

(B) interaction of Cu with internal organs
of the body.

(C) interaction of Ag with internal organs
of the body.

,pﬁ‘) interaction of Sn with internal organs
of the body.

C-12

106. Which of the following amendments of the
Indian Constitution is related to reservatlm? of
SC'sand ST’sand representation of Anglo Indiang
in the Lok Sabha and State Assembly?

(A) 54th Amendment
(B) 63th Amendment
(C) 111th Amendment

\(P7 79th Amendment

1,0‘7. An endobiotic fungus is
AA) Agaricus
(B) Morchella
(C) Synchytrium
(D) Polyporus

» 108. Ultraviolet radiations from sunlight causes
a reaction that produces

(A) fluorides
(B) carbon monoxide

(C)._ sulphur dioxide
\(B) ozone

-}05.‘ The equal sharin

specifically known as
N0,9) Environmental justices
T(B) Sustainability
\€) Environmental equity
\[\D) Ecological foot printing

g of Earth’s resources is

110. C-dating application of radio isotope 14C
emits

JA) a particle
(B) B particle
(C) y-ray
(D) positrons




111. Depletion of the stratospheric ozone layer
4
occurs when molecules of ozone are destroyed by
chemicals such as
\(em CFC
(B) DDT
(&) 03
(D) PCB

112. Thermitwelding uses Al powderbecause of
(A) its lightness
«B) its lower melting point
(C) its greater affinity for O,
(D) All of the above

\/ﬁl A diet high in saturated fats can be linked to
which of the following disorder

(A) Kidney Failure

(B) Bulimia

(C) Anorexia

~D) Cardiovasculat diseases

\1,1{ Which one of the following is not a major
cause of biodiversity loss?

(A) Habitat loss

(B) Climate change
{2 Invasive Species
(D) Zoonotic diseases

W5, The term PVC in the plastic industry stands
for

(A) Phospho Vinyl Chloride
(B) Poly Vinyl Carbonate

(€7 Poly Vinyl Chloride
(D) Phospho Vanadium Chloride

C-13
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M6. If you analyzed waste water directly after
primary treatment, what would you notice?
\{ﬁ) Harmful bacteria and other biological
agents have been killed or removed
(B) The water is potable

(C) Much of the dissolved solids' have
been removed )

(D) Many suspended solids have been
removed

nld?. The blueness of the sky is mainly due to

) the scattering of sunlight by air
~ molecules.

(B) the presence of water vapor.
(C) absorption of blue light by the air.

(D) emission of blue light by the
atmosphere.

8. What s the urban population percentage to
the total pupolation of India as per the Census
20117

WA) 31
(B) 34
©) 36
(D) 40

JA9. Carbon mono oxide is a pollutant because
\9)) reacts with hemoglobin
(B) makes nervous system inactive
(C) itreacts with O,
(D) it inhibits glycolysis

‘Jéﬂ. Which of the following is a polysaccharide?
(A) Glucose
(B) Starch
(C) Glycogen

\(_PT Sucrose
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bt I\lecr IB'L.\.\CII(I{II tolife because ithas many

e ‘-.1 properties. Which one of the following s
Special property of water? e
(A) It is able o Covalently bond to other

Water moleculeg
(BT Itis goodatdissoly

) n casily heaty up

(D) 1t easily cools

Ing othersubstances

122. The pressure gua :
i 8¢ required for ;
high pressure of the order of 105 psj measuring

(A) U-Tube manometer

(B) Bourdon pressure gauge
(C) Mc Cleod gauge

(D) Pirani gauge

12.3. PH of the blood in human body around 7 is
maintained by buffering action of
(A) H,CO, and Na,CO,
(B) H,CO;and NaHCO,
(C) CH3COOH and CH;COONa
(D) Na,HPO, and NaH,PO,

~J24. The increasing amount of carbon dioxide in
the air is slowly raising the temperature of the
atmosphere, because it absorbs
(A) the water vapour of the air and retains
its heat.
(B) the ultraviolet part of the solar
radiation,

(C) all the solar radiations.
\16‘; the infrared part of the solar radiation.

S. Samvidhan Divas or Constitution Day is
celebrated on
(A) 3rd December
(B) 25th Octuber
(C) 5th January
) 26th November

C-14

126. During cell divisions, DNA synthesis takes

place in
) Interphase
(B) Anaphase
L (C) Prophase
) (D) Telophase

\I27. Gaseous fuel having highest calorific value
of the following is
(A) producer gas
(B) water gas
(C) natural gas
D) liquified petroleum gas

128. Whatis the new deadline forimplementation
of Smart Cities Mission?

(A) 2023

(B) 2024

(C) 2025

(D) 2026

J429. Which of the following reactions is an
example of nuclear fusion reaction?

) iH+1H ={He + !n
(B) 2C+ H=UN+y

) 35U +n= '"2Ba + 9Kr + 3'n
(D) N+ !n=12C+ 4

\,1/.6. The supersonic jets cause pollution by the
thinning of

(A) O, layer

WB) O, layer

©) CO, layer

(D) SO2 layer



J31. Super critical CO, held atoraboveiits critical
temperature and critical pressure, adopts properties
(A) midway of solid and gas
(B) of liquid only
(C) of gas only
(D) midway between liquid and gas

t1’32. In a chemical reaction, catalyst changes
(A) Potential energy of the products
(B) Potential energy of the reactants
(C) Heat of reaction
(D) Activation energy of the reaction

&(33.’ Which one of the following is not colloid?

(A) Milk
(B) Smoke
(C) Blood

JD) Urea

%{ Which form of symbiosis benefits one
member of the interaction, but neither benefits nor

harms the other member?
(A) Parasitism
4/B) Commensalism
(C) Sequentialism
(D) Mutualism

J’gs- Which of the following is widely used as
flavors in food and perfumery?

(A) Carboxy methyl cellulose
(B) Ascorbic acid

(C) Sachharin

p) Vanillin

C-15 CSM(C)8/22

\]Z(ﬁ. Little Boy relates to
(A) H-bomb
(B) U-bomb

_UZ') Pu-bomb

(D) He-bomb

J¥7. Whobuiltthe Ibadatkhana at Fatehpur Sikri?
(A) Shahjahan
(B) Aurangzeb

&) Akbar
(D) Jahangir

Jl)ﬂ. In N-type semiconductor, ultrapure Si is
oped with

(A) Boron

(B) Aluminum
(2] Phosphorous
(D) Indium

\lﬁ What practice allows farmers to improve
soil fertility, diversify their crops, and reduce
pesticide costs by naturally breaking the cycle of
weeds, insects, and diseases?

(A) Monoculture
(B) Biological control
(C) Crop sharing
qzﬁ Crop rotation

140. Ultramarine blue pigment is a complex
alumino-silicate containing

(A) Sulphur

(B) Phosphorous

(C) Boron

(D) Cobalt
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<141, Which type of bond is present in superhard
material tungsten carbide?

JA) Tonic

(B) Covalent

(C) Metallic

(D) All of the above

142. The world’s longest straight road without
-any corners is located in

(A) USA

(B) Saudi Arabia
(C) Australia
(D) China

43. How many countries were participated as

Founding Members of United Nations?
(A) 45
«B) 48
(C) 51
(D) 70

144. Which of the following is absentin polluted
water?
(A) Hydrilla
(B) Water hyacinth
£ (C) Larva of stone fly
7 (D) Blue green algae:

145. A population has unlimited resources and
exhibits rapid and sustained population growth.
This type of growth would be best described by
which one of the following?

(A) Exponential
(B) Logistic
(C) Sigmoidal
(D) Parabolic

C-16

intion in the north-western
' inscription 1N -
: L .f:;::h:ﬂljﬁ::'yun Empire near peshwar
arto ;
' (A) Aramaic Scnptl
+(B) Devanagari SCI:Ipl
«C) Kharoshthi Script

3 (D) Brahmi Script

147. Which is the result of damage to relative

biological effectiveness?
(A) High temperature
AB) Pollution
(C) Radiation
(D) Low temperature

\A8. Cholesterol lowering agent in blood is
(A) Vitamin K
(B) Vitamin E
(C) Vitamin C
D) Vitamin B,

\fﬁ9. The headquarters of the International Court
of Justice (ICJ) is situated in

(X) The Hague

(B) Vienna

(C) Washington D.C.
(D) Paris

(l’ﬁ). Point out incorrect statement.

(A) Detergent works well even with hard
water.

(B) Detergent does not form any
precipitate with hard water,
(C) Detergent is easily soluble in water,
\gﬂ)/ Detergent is fully biodegradable,
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U‘fl. The most common indicator organism that
represents polluted water is

(A) C.vibrio

(B) Entamoeba histolytica
AC) E.coli

(D) P.typhi

\I52. Antibiotic resistance in organisms is the
result of what process?

(A) Differentiation
B) Evolution
(C) Emergence
(D) Succession

153. Myoglobin is
(A) Tetramer
(B) Dimer
(C) Monomer
(D) Polymer

154. 1" is used for
(A) Cancer therapy

&B{Geological dating
(C) Thyroid therapy
(D) Leukemia therapy

\}5@ Food chain in which microorganisms
breakdown the food formed by primary producers
is
(A) parasitic food chain
) detritus food chain
(C) consumer food chain
(D) predator food chain

C-17
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A56. The material used as fuel rod in nuclear
reactor is

(A) Graphite
#) o,
() D,O
(D) ZrO,

r~/Ig‘a'. Whatis the best pH of the soil for cultivation ,
of plants?
(A) 34-54
WB) 65-75
(C) 45-85
(D) 55-65

J58. Alight emitting diode produces light when .
© ) Forward biased
(B) Reverse biased
(C) Unbiased
(D) None of the above

\169. Huge soild waste liberated from Iron and
Steel industry is

(A) Red mud

BJ Fly ash

(C) Bottom ash
(D) Granulated slag

\./60. Majoraerosol pollutant injet plan

15

eemission

(A) sulphur dioxide
(B) carbon monoxide
(C) methane

) fluorocarbon

please Turn Over
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161. Who won Pulitzar Prize in Journalism in
20217
. (A) The Statesman
(BY The Hindu
(C) The Times of India
JP) The New York Times

2. Which country has unveiled a National Plan
to reduce 80% GHG emissions by 2050?

(A) China
(B) Israel

J€) India
(D) USA

J163. The process of rapid cooling of parts in
metallurgical operation is called

«A) Annealing .
(B) Quenching -
(C) Tempering
(D) Toughering

Jp4. LED and LASER diodes are made of
(A) Al
(B) Ga
(C) As
JD) GaAs

1»6?. Most hazardous metal pollutant of
automobile exhausts is

(A) mercury

(B) cadmium

) lead

C-18
(he following States ig

: . of
hich onc © .
166. In W located?

- wildlife Sanctuary
Pakhui K'}I(Tr::uchul Srassh

(B) Manipur

(C) Meghalayd

(D) Nagaland

try has the Indian Prime
odiinagurated the Sardar
andir Cultural Center?

&7. In which coun
MinisterShriNarendraM

Patel Statue at Sanatan M
(A) India
B)- Nepal
(C) Canada
(D) Afghanistan

fé Which of the following is not a classical
dance form of India?

(A) Kathak

(B) Odissi

() Bhangra
. (D) Manipuri

Jé. Kausar Munir has been adjudjed as the best

lyricist in the International Indian Film Academy
(ITFA) Awards 2022 for the film:

(A) Mimi

‘;]? Tadap
) Bunty Aur Bubly 2

(D) 83

1707 Gays released during Bhopal tragedy was
+ W(A) methyl isocyanate

(B) potassium isothiocyanate

(C) sodium isothiocyanate

(D) copper

(D) ethyl isothiocyanate

- - - e e 7 o It =} TP AR o8
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71, Who was the Governor General during the:
annulment of *Sati*?

«A) Lord Bentinck

(B) Lord Hastings

() Lord Dalhousie

(D) Lord Canning

\yﬁ. The reuse of disposed needles and syringes
may caus¢ infections of

(A) HIV
(B) T.B.
(C) Typhoid
(D) Cancer

.Jﬂg The presence of nitrogen in waste water is
due to alteration of

(A) carbohydrate
«B) protein

(C) fat

(D) vitamin

747 Which of the following Act provided for
communal representation in British India?

(A) Indian Councils Act, 1892
nPHS Minto-Morley Reforms, 1909

(C) Montague-Chelmsford Reforms, 1919
(D) Government of India Act, 1935

\1/5. Who among the following is associated
with *Songs from Prison’, a translation of ancient
Indian religious lyrics in English?
(A) Bal Gangadhar Tilak
(B) Jawaharlal Nehru
(C) Mohandas Karamchand Gandhi
D) Sarojini Naidu

CSM(C)8/22

‘ﬂﬁ. Electrical resistivity of a conductor
= (A) increases with temperature
\(B] decreases with temperature
(C) docs not change with temperature
) decreases at lower temperature, then
increases with temperature

\1,7{. Photochemical smog is a resultant of the
reaction among :
\V() NO,. O, and peroxyacetyl nitrate in
the presence of sunlight
(B) CO,0,and peroxyacetyl nitrate in the
presence of sunlight
(C) CO,CO,and NO, at low temperature
(D) high concentration of NO,, O,, and
CO in the evening

4}4. Which of the following is double salt?
(A) FeSO,, 6H,0 |
(B) Pb(OH)NO,
HE) K;80;4, Aly(SO,)s, 24H,0
(D) K, [Fe(CN)]

9. By definition, what are you most likely to
find in a biodiversity hotspot?

J}({A large abundance of endangered
species

\((B/)- A large number of endemic species
(C) Mostly eukaryotic species
(D) Extremophiles

_l}{f. D.D.T.is

(A) not a pollutant

‘i? an antibiotic
)

anon-degradable pollutant
(D) abiodegradable pollutant
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&1. Whichof the followiny is the oldest Smiriti?
(A Narad Smrin
(Y Yamavalkya Smniti
() Brihaspati Smirit
W Mann Smriti

182. Which Indian Architect has been awarded
the “Roval Gold Medal™ 20227
A) Suman .Bcry
(R) Chigrufiiswnnath
(C) Balkrishna Vithaldas Doshi
(1) Rajiv Kumar '

183. Green house effect is warming due to
N . ’
(A) infra-red rays reaching earth
(B) moisture layer in atmosphere
_€) increaseintemperature duetoincrease

in carbon dioxide concentration of
atmosphere

(D) ozone layer of atmosphere

184. How much air does a man normally inhale

in a day”
(A)
(B)
(C),
(D)

Skg
16 kg
20 kg

25 kg

industrial waste. containing mercury

\J}?’S. A discase caused by eating fish contaminated
[
DA

Compounds, 15 called
(A) Osteosclerosis
(13) Hashimoto's oxidase
(C) Bright's disease

\1}'" Ninamata disease

C-20

’lgﬁ. “Fffective dnsc—ﬁﬂ'ﬁ-" describes which one
ol the following”?
(N) The dose thi
(B) The dosc th
1 The dose the
|cthal dos€

The dose that r¢
50%

(resultsin 50% mortality
at results in 50% survival
L is 50% less than the

sults in a significant

() of subjects

response in

. What is B.0.D.? N
&) The amount of 0, utilized by
organisms in water |
(B) The amount of O, utilize_d' by micro-
organisms for decomposition
(C) Thetotalamount of P, presentin water

(D) All of the above

«I88. The metal extracted from bauxite ore using
Bayer’s process is
#K) Al
(B) Zn
(C) Pb
(D) Ba

189. Which of the following is protected by
passivation?

(A) Mild Steel
(B) Silver
(C)! Bronze

mainless Steel

190. In which year the first environmental
conference (Stockholm Conference) was held?
M 1965
m/l 1968
(C) 1970
(L) 1972



J91. What s the carbon credit?

(A) Itis the difference between the carbon
emissionallowed and actually emitted
carbon

(B) It is the loan amount by IMF for
reducing pollution

(C) It is loan given to poor people for
buying Modern Stoves
(D) All of the above

192. Relationship between Pressure (P) and
Volume (V) of gas undergoing adiabatic expansion
is (y is ratio of specific heats at constant pressure
and constant volume respectively).

(A) PV =constant
(B) PV'=constant
JC) PV = constant
(D) PV = constant

*196. Coal, oil, and natural gas are created
and contain the remains of
{A) overmillions of years; algae and plants
(B) over millions of years; dinosaurs and
other animals
(C) over hundreds of years; algae and
plants
(D) overhundreds of years; dinosaurs and
other animals

NLQ( How carbon monoxide, emitted by
automobiles, prevents transport of oxygen in the
body tissues?
) By forming a stable compound with
hemoglobin
(B) By obstructing the reaction of oxygen
with hemoglobin
(C) By changing oxygen into carbon
dioxide
(D) By destroying the hemoglobin
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195. COlevelin the exhaust gas upto 10 ppm can
be monitored by

(A) Non dispersive IR spectroscopy
(B) Gas chromatography

(C) UV-VIS spectroscopy

(D) Flame photometry

196, If there was no CO, in the earth's
atmosphere, the temperature of earth’s surface
would be

(A) higher than the present

(B) dependentonthe amountofoxygenin

atmosphere
(C) same as present
(D/) less than the present

197. Upper part of sea aquatic ecosystemcontains
) plankton :
(B) nekton '//
{§<plankt_on and nekton Pl
(D)“benthos

198. When is National Sport Day celebrated in
India?

(A) August 26th
JB) August 29th
(C) August 25th
(D) August 31st

“ﬁé Which Financial Institution has launched
Rs. 10,000 special refinance facility (SRF) 2021 to
support Housing Finance Companies?
{A) Reserve Bank of India
_(B) State Bank of India
(C) NABARD
(D) National Housing Bank

200. The ratio of specific heats at constant
pressure and constant volume for diatomic gas is

(A) 166
(B) 1-40
©) 130 3
D) 125
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1. Which committee recomin
reservation of the OBCs in the governm
19917 *

(A) Jogendra Nath Mandal gommiliee
(B) B.P. Mandal committee

(C) Dilip Singh Bhuria commilte€
(D) U. N, Debar committee

2. The directive of separation of judiciary from

executive is mentioned under
(A) Article 48
(B) Article 49
(C) Article 50
(D) Article 51 *

3. Right against double jeopardy is enshrined
under

(A) Article 20(1)
(B) Article 20(2)
(C) Article 20(3)
(D) Article 20(4)

4. Which 1s the correct sequence in the
Preamble of the Constitution of India?

(A) Sovereign, Secular, Socialist,
Democratic Republic

(B) Sovereign, Socialist, Secular,
Republic, Democratic

(C) Sovereign, Secular, Socialist,
Republic, Democratic

(D) Sovereign, Socialist, Secular,

Democratic Republic

5. The appropriate writ issued by the court to
quash the appointment of a person to a public
office is that of

(A) Mandamus
(B) Certiorari
(C) Quo Warranto
(D) Prohibition

D-2

ion | of SCs
6. Reservations in promotion in fayour

and STs are dealt under
(A) Article 16(3)
(B) Article 16(4)
(C) Article 16(4A)
(D) Article 16(4B)

7. Power of the President Lo consult Supreme
Court has been stated under
(A) Article 144
(B) Article 142
(C) Article 143
(D) Article 141

8. Who can legislate on those residual matters
which are not mentioned in union/ state/ concurrent
list?

State Legislature exclusively
Parliament alone

Parliament after consultation with state
legislatures

Parliament or state legislature as
adjudicated by the Supreme Court of
India

(A)
(B)
(€)

(D)

). Which of the following is not a basic
structure of the Constitution of India?

(A) Supremacy of the Constitution

(B) Separation of powers between the
legislature, the executive and the
judiciary.

(C) Harmony and balance between
Fundamental Rights and Directive
Principles

(D) Absolute power of the Parliament to

amend the Constitution

10. The President can issue proclamation of
emergency
(A) on the advice of the Prime Minister
(B) on the advice of Council of Ministers
(C) on the request of the Vice-President

(D) whenthedecisionofthe Union Cabinet

tor the 1ssuance of such proclamation

1S communicated to the President in
writing




11. In which of the following cases the Apex
court held that, “Where there is a clash of two
fundamental rights, the right which would advance
the public morality or public interest, would alone
be enforced through the process of court...”?

(A) Nandini v. Dani

(B) Sher Singh v. State of Punjab

(C) KharakSinghv.State of Uttar Pradesh
(D) Mr. X v. Hospital Z.

12. How many fundamental duties are there
under Article 51-A of the Constitution of India?

(A) 9
(B) 10
(C) 11
(D) 12

13. A Money Bill can originate
(A) only in Lok Sabha
(B) only in Rajya Sabha
(C) in both the Houses simultaneously
(D) atthe joint session of both the Houses

14. “Economic Justice” as one of the objectives
of the Constitution of India has been provided in

(A) Preamble and Fundamental Rights

(B) Preamble and Directive Principles

(C) Fundamental Rights and Directive
Principles

(D) Preamble, Fundamental Rights and
Directive Principles

15. A proclamation of National Emergency
automatically suspends

(A) All fundamental rights

(B) Right to freedom

(C) Right to constitutional remedies
(D) No fundamental rights

CSM(C)9/22

16. How many scheduled languages are there in
the Eighth Schedule of the Constitution of India?

(A) 12
(B) 17
(©) 22
(D) 24

17. The Fundamental Rights of the Indian
citizens have enumerated in the Constitution of
[ndia in

(A) Articles 12-35
(B) Articles 13-36
(C) Articles 14-36
(D) Articles 14-51

18. How long a person should have practiced in
a High Court to be eligible to be appointed as a
Judge of Supreme Court of India?

(A) 7 years
(B) 10 years
(C) 12 years
(D) 15 years

19. Freedom of Conscience 1s subject to
(A) Public Order
(B) Morality
(C) Health
(D) All of the Above

20. In which of the following cases it was held
that “Right to Life does not include Right to Die™?

(A) Deena v. Union of India

(B) M.C. Mehta v. Union of India

(C) Gian Kaur v. State of Punjab

(D) State of U.P. v. Sanjay Kumar Bhatia

Please Turn Over
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21. Inwhichofthe following cases the Sﬂpfﬂ.l"::
Court of India held that forcing husband 0 %
separated from his parents, amounts {0 cruelty

(A) Narendrav. K. Meena

(B) Zubeda Ahmed v. Fazlia Begu"
(C) Suleha Julekha v. Md. Bismillah
(D) Anita Kushwaha v. Pushpa Sudan

22. In India Right to Property is a
(A) Moral Right
(B) Legal Right
(C) Fundamental Right
(D) Personal Right

23. How many members were there in the
Constituent Assembly?

(A) 389
(B) 192
(C) 289
(D) 292

24. Which of the following doctrines means "to
stand by precedent and not to disturb the settle
point of law™"?

(A) Doctrine of stare decisis

(B) Doctrine of pith and substance

(C) Doctrine of prospective overruling
(D) Doctrine of colourable legislation

25. Which one of the following items/subjects
belongs to the Concurrent Listof the VIIth schedule
of the Indian Constitution?

(A) Public Health and Sanitation
(B) Forests

(C) Stock Exchanges

(D) Agriculture

26. Under Article 15 :
[ndia, States shall not discrinm
«itizen only on the ground of

(A) Religion, race, caste,

(B) Religion, caste, S€X,
residence

(C) Religion, race, caste,
birth

(D) Religion, race, caste, S€X
birth, descent, residence

sex, residence
place of birth,

sex , place of

, place of

of National

27. How soon imposition | -
the Parliament:

Emergency should be approved by
(A) 1 month
(B) 2 months
(C) 3 months
(D) 6 months

28. Who can enact a law on abolition of
Untouchability?

(A) The Parliament of India vide
Article 17

(B) The Parliament of India vide
Article 35(a)(11)

(C) State Legislatures vide Article 17 and
21

(D) All of the above

29. “Power of Parliament to amend the
Constitution and procedure therefore™ is laid down
in the Constitution in—

(A) Part XX
(B) Part XXI
(C) Part XXII
(D) Part XXIII

30. The Constitution gives the powers of

superintendence over all sub-ordinate courts to the
High Courts under Article

(A) 32
(B) 226
(C) 227
(D) 228




31. Disqua]iﬁcatiun of membership of either
House of the Parliament is provided under

(A) Article 100
(B) Article 101
(C) Article 102
(D) Article 103

32. Who presides over the joint sitting of the
Parliament?

(A) President

(B) Speaker

(C) Vice-President

(D) Chief Justice of Supreme Court

33. InwhichLandmark case the Supreme Court
held that the Second marriage of Hindu man i1s
invalid evenif he converts to Islam before marriage?

(A) Daniel Latiffi v. Union of India
(B) Sarala Mudgal v. Union of India
(C) Roopa Hurrah v. Ashok Hurrah '

(D) Ramachandra Saraswati v. Neena
Bajpai

34. “Equal justice and free legal aid” 1s
incorporated in the Constitution of India in
(A) Article 21A
(B) Article 39A
(C) Article 43A
(D) Article 48A

35. The Parliament of India consists of
(A) President, House of the People and
Council of States
(B) House of the People and Council of
States
(C) Vice-President, House of the People
and Council of States

(D) President, Vice-President, House of
the People and Council of States

CSM(C)9/22

36. The maximum age prescribed for election
of President in India is
(A) 35 years
(B) 60 years
(C) 65 years
(D) No such limit

37. Article 32 stands suspended during an
emergency under Article

(A) 352
(B) 356
(C) 260
(D) 362

38. Judicial Review function of the Supreme
Court means the power Lo
(A) Review the functioning of judiciaryin
the country. .
(B) Undertake periodic review of the
Constitution.

(C) Examine the Constitutional vahdity
of the laws.

(D) Review its own judgment.

39. Who was the advisor of the Constituent
Assembly?

(A) B.R. Ambedkar

(B) B. N. Rao

(C) Alladi Krishnaswamy
(D) T.T. Krishnamachan

40. Which of the following is known as Judges
Transfer case’!

(A) Supreme Court Advocates on Record
Association v. Union of India

(B) S. P. Gupta v. Union of India
(C) In re Presidential Reference
(D) None of the above
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41. The number of nominated members to the
Council of States 1s

(A) 18
(B) 12
(C) 20
(D) 16

42. In which Landmark case Fundamental
Rights were considered as Inviolable part of the

Indian Constitution?
(A) Goloknath v. State of Punjab

(B) Kesavananda Bharati v. Union of
India

(C) S. R. Bommai v, Union of India
(D) Prem Singh v. State of Haryana

43. Which Indian State has the largest number

of seats reserved for the Scheduled Tribes in the
Lok Sabha?

(A) Madhya Pradesh
(B) Rajasthan

(C) Andhra Pradesh
(D) Arunachal Pradesh

44. Minimum age required to become amember
of Council of States is

(A) 18 years
(B) 25 Years
(C) 30 years
(D) 35 years

45. Joint sitting of the Lok Sabha and Rajya
Sabha is provided in the Constitution of India
under

(A) Article 101
(B) Article 108
(C) Article 133
(D) Article 102
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46. The Objective Resolution in the Cons

Assembly was moved by
(A) pandit Jawaharlal Nehru

(B) Dr. B.R. Ambedkar
(C) Dr. Rajendra Prasad
(D) Lord Mountbatten

47. How many times have the Financial

Emergency imposed In India?
(A) Only once
(B) Twice
(C) Thrice
(D) Never

48. Which of the following case is known as the
“Fundamental Right™ case?”
(A) Goloknath v. State of Punjab
(B) Indira Gandhi v. Raj Narain

(C) Kesavananda Bharati v. State of
Kerala

(D) D. K. Basu v. State of West Bengal

49. Under which Constitutional Amendment,
provision for minimum age as 18 years for the

Indian Citizen was made to become eligible to
vote?

(A) 39th Amendment Act, 1988
(B) 60th Amendment Act, 1988
(C) 61st Amendment Act, 1989
(D) 62nd Amendment Act. 1989

50. The ideals of “liberty, equality and
fraternity” in the Preamble of the Constitution of
India is inspired by

(A) Russian revolution
(B) French revolution
(€) Marxian thoughts
(D) Gandhian thoughts




51. The members of the Council of Ministers
are collectively responsible to
(A) Judiciary
(B) House of the People
(C) Council of States
(D) The President

52. The Fundamental Duties in the Constitution
of India were adopted from

(A) American Constitution
(B) Russian Constitution
(C) Canadian Constitutiton
(D) French Constitution

53. Inwhichofthe following cases the Supreme
Court emphasized on right to Shelter as one of the
fundamental human rights?

(A) R. S. Verma v. State of Rajasthan

(B) Chameli Singh v. State of Utiar
Pradesh

(C) Olga Tellis v. Bombay Municipal
Corporation

(D) Virender Gaur v. State of Haryana

54. The Constitution of India adopted the federal
system from the Act of

(A) 1919
(B) 1935
(C) 1947
(D) 1909

55. Which of the following is a part of the
electoral college for the Election of the President
but does not participate in the proceedings for his/
her impeachment?

(A) Lok Sabha

(B) Rajya Sabha

(C) State Legislative Assemblies
(D) State Legislative Councils
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56. Which of the following Indian States does
not have a Bicameral Legislature?

(A) Uttar Pradesh

(B) Bihar

(C) Chattisgarh

(D) Jammu and Kashmir

57. The word “secularism” was added (0 the
Preamble of the Constitution of India by which
amendment?

(A) 40th
(B) 42nd
(C) 44th
(D) 46th

58. The numberof the AngloIndians nominated
to the House of People is

(A) 1
(B) 2
(C) 3
(D) 4

59. Who has the right to decide that who will be
included in the list of Scheduled Caste and
Scheduled Tribes?

(A) Parliament

(B) President

(C) Govemor of the State
(D) Supreme Court

60. The Concurrent list in the Constitution of
India was adopted from

(A) Australia
(B) Canada
(C) Russia
(D) UK
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61. Inwhichofthe following cases the Supreme
Court held that, “if a body is an agency Or
instrumentality of government, it may beé an
authority under Article 12."?

(A) Ujjambai v. State of Uttar Pradesh

(B) R.D. Shetty v. The International
Airport Authority of India

(C) Ajay Hasia v. Khalid Mujib
(D) Som Prakash v. Union of India

62. Which of the following Articles of the
Constitution of India guarantees the right to move
freely throughout the territory of India?

(A) Article 19(1)b
(B) Article 19(1)c
(C) Article 19(1)d
(D) Article 19(1)e

63. The Constituent Assembly was setaccording
to the proposals of

(A) The Crips Mission
(B) The Cabinet Mission
(C) The Mountbatten Plan
(D) None of the above

64. Whichof the following Fundamental Rights
do not get abolished automatically during National
Emergency?

(A) Articles 14 and 19
(B) Articles 19 and 20
(C) Articles 20 and 21
(D) Articles 32 and 226

65. Which of the following Article deals with
the election of the Vice-President?

(A) 62
(B) 64
(C) 66
(D) 68

. _ _ =
66. Supreme Court of India is a court of reco

under
(A) Article 32
(B) Article 129
(C) Article 136
(D) Article 141

67. The Council of States in India has how

many elected members?
(A) 250
(B) 238
(C) 245
(D) 230

68. Which Constitutional Amﬂﬂdl:ﬂﬂﬂt _At‘:l,
provided reservation in admissions in private
unaided educational institutions for students
belonging to scheduled castes/tribes and other

backward classes?
(A) 92nd Amendment
(B) 93rd Amendment
(C) 94th Amendment

(D) 95th Amendment

69. How many High Courts are there at present
in India?

(A)

(B)

(C)

(D)

NN RN R
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70. Clause 4 ofthe Article 15 of the Constitution
of India has been added to the Constitution by

(A) The Constitution Fourth Amendment
Act

(B) The Constitution Third Amendment
Act

(C) The Constitution Second Amendment
Act

(D) The Constitution First Amendment
Act
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71. Fundamental Duty to uphold and protect 76. Inwhichof the following cases the Supreme

the sovereignty, unity and integrity of India is
gnghfmﬁd in

(A) Article S1A (a)

(B) Article 51A (b)

(C) Article 51A (c)

(D) Article S1A (d)

72. The Constitution of India describes India as

d
(A) Federation of independent States
(B) Union of States
(C) Quasi Federation

(D) Dominion of States

73. Duty of the state toraise the level of nutrition
and the standard of living and to promote public
health is Directive Principle under

(A) Article 47
(B) Article 48
(C) Article 49
(D) Article 50

74. The word “procedure established by law” in
the Constitution of India have been borrowed from

(A) The Consttution of UK
(B) The Constitution of USA
(C) The French Constitution
(D) The Constitution of Japan

75. Theresolutiontoremove the Vice-President
of India can be moved by

(A) Lok Sabha

(B) Rajya Sabha

(C) Any State Legislature

(D) Either House of the Parliament

Court of India unheld the right against solitary
confinement?

(A) Sunil Batra v. Delhi Administration
(B) Romesh Thappar v. State of Madras

(C) M.H. Hoskorv. State of Maharashtra

(D) Govind v. State

77. Directive Principles of State Policy 18
(A) Justifiable
(B) Non-justifiable
(C) Mandatory
(D) None of the above

78. Kaka Kalelkar Commission is related to

(A) The National Commission for
Scheduled Castes

(B) The National Scheduled Tribes
Commuission

(C) The Backward Class Commission
(D) The Anglo Indian community

79. How many sanctioned judges are there in
the Supreme Court of India?

(A) 25
(B) 28
(C) 30
(D) 31

80. With reference to election of the President
under Article 55 of the Constitution of India, every
elected member of the legislative assembly shall
have as many votes as there are multiples of one
thousand 1n the quotient obtained by dividing the
population of the State by

(A) Total number of the elected members
of the assembly

(B) Total number of nominated members
of the Rajya Sabha

(C) Total number of the elected members
of both the Houses

(D) None of the above
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Areas as ',eIl as Scheduled Tribes?
I(’A)“’*'Ihmi Schedule

(B) 'Fifth Schedule

(C) Seventh Schedule

(D) Ninth Schedule

83. Under which Article of the Constitution of

India Financial Emergency can be proclaimed?
(A) Article 323
(B) Article 356
(C) Article 352
(D) Article 360

84. The age of retirement of the Judges of the
High Court 1s
(A) 60 years
(B) 62 years
E (C) 65 years

(D) 70 years

85. Who was the Chairman of the Constitution
Drafting Committee?
(A) Jawaharlal Nehru
(B) Dr. B. R. Ambedkar
(C) Dr. Rajendra Prasad
(D) Sardar Vallabhai Patel

' """trauananﬂ,q:ﬂnt:a] of Scheduled

R r""'. |.
F | o i _Z r. 1] I -‘
| i:. -'!r"*ﬂ |1H\r' ¢ At ; '

(A) Article 21
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87. Which of the"fallﬂwinﬁ is “‘E'tl 2 fﬂ =

thﬂ,Cnnsumunn..nflndlﬂ?_
(A) Itis democratic
(B) It is republic
(C) It is federal
(D) It is presidential

88. Reasonable restriction to right to assemble
peacefully is placed under
(A) Article 19(2)
(B) Article 19(3)
(C) Article 19(4)
(D) Article 19(5)

89. If the announcement of the National

Emergency has been approved by both Houses of
Parliament, how long will it be effective?

(A) 1 month
(B) 2 months
(C) 3 months
(D) 6 months

90. Inwhichof the following cases the Supreme
Court of India issued direction on playing national
anthem in theatres and cinema halls?

(A) Navtej Singh Johar v. Union of India
(B) Kedar Nath v. State of Bihar
(C) Ram Singh v. Union of India
(D) Shreya Vidyarthi v. Ashok Vidyarthi

of |
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91. A proposal to prefer the charge of
impeachment of the President of India has (o be
moved after prior notice of

(A) 7 days

(B) 14 days
(C) 21 days
(D) 30 days

92. Which of the following Article is repealed?
(A) Article 31A
(B) Article 31B
(C) Article 31C
(MY Article 31D

93, Which ol the lollowing Articles was
introduced by the Constitution (93rd Amendment)
Act, 20057

(A) 15(2)
(B) 15(3)
(C) 15(4)
(D) 15(5)

94. Inwhichofthe following cases the Supreme
Court of India held “the right to access to drinking
water is fundamental to life and it is the duty of the
State under Article 21 to provide clean drinking
water to its citizen™”

(A) Vellore Cirizens Welfare Forum v.
Union of India

(B) A. P. Pollution Control Board v.
M. V. Nayadu

(C) M. C. Mehta v. Union of India

(D) Karnataka Industrial Area
Development Board v. Sri C.
Kenchappa

95. Who was the Chief Justice of India when
the Public Interest Litigation is introduced to the
[ndian judicial system?

(A) Justice M. Hidayatullah
(B) Justice A. H. Ahmadi

(C) Justice P. N. Bhagwati
(D) Justice V. R. Krishna lyer
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96. Which Part of the Constitution of India
deals with “Emergency Provisions™?

(A) Part IX
(B) Part XVIII
(C) Part XXII
(D) Part XVI

97. Article 21A was inserted to Part Il of the
Constitution by
(A) 78th Amendment Act
(B) 84th Amendment Act
(C) 86th Amendment Act
(D) 93rd Amendment Act

U8. Whenwasthe word “‘armed rebellion’ added
to the Constitution to declare a National

Emergency”?

(A) By 44th Constitution (Amendment)
Act

(B) By 42nd Constitution (Amendment)
Acl

(C) By 40th Constitution (Amendment)
Act

(D) By 38th Constitution (Amendment)
Act

99 The word “socialist” was added to the
Preamble of the Constitution of India by which
amendment”?

(A) 44th
(B) 27th
(C) 2lst
(D) 42nd

100. Which of the following Constitutional
Amendments equipped President to impose

National Emergency on any particular part of
India?

(A) 38th Amendment
(B) 40th Amendment
(C) 42nd Amendment
(D) 62nd Amendment
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101. Which one of the following is NOT an
indicator of Globalization?
(A) Opening of the economy for unrestricted
imports and exports

(B) Allowing free capital movement
among nations

(C) Free movement of technology among
natons

(D) Achieving exchange rate stability

102. In POW camps during the Vietnam War,
cigarettes were used as money. This is an example
of a

(A) commodity money standard.
(B) gold standard.

(C) gold exchange standard.

(D) Bretton Woods Institution

103. The Finance Commission is constituted by
the President of India every

(A) 2 years
(B) 3 years
(C) 4 years
(D) 5 years

104. The Taylor’s rule in monetary policy
specifies that if inflation rises by 1 percentage
point,

(A) the nominal interest rate should be
increased by 1 percentage point.

(B) the nominal interest rate should be
increased by twice that rate.

(C) the nominal interest rate should be
increased by more than 1 percentage
point,

(D) the nominal interest rate should be
brought down by 1 percentage point.

105. Which one of the following is NOT a
quantitative credit control method?

(A) Open market operation

(B) Repo rate and reverse repo rate
(C) Variable cash reserve ratio

(D) Margin requirements

(he Constitution of

- ' I
106, Under which Article 0 ion appointed by

India is the Finance Comimiss
President of India?

(A) 279

(B) 280

(C) 281

(D) 282

onvertible on the

de ¢
107. The Rupee was ma f payments in

current account of the balance O
(A) July, 1991
(B) April, 1992
(C) August, 1994
(D) April, 1995

108. Which one among the following sectors
was the leastimpacted by the COVID-19 pandemic-

related disruptions?
(A) Agriculture
(B) Industry
(C) Infrastructure
(D) External sector

109. India s gross fiscal deficits which was 8.3%
of GDPin 2008-09 (Global Financial Crisis Period)
had reached in 2020-21
(COVID-19 Pandemic period) at

(A) 9% of GDP
(B) 9.5% of GDP
(C) 10.2% of GDP

(D) 11% of GDP

110. Fiscal policy refers to

(A) taxand expenditure policy used by the
government to influence the size of
the economy.

(B) the government’s regulation of
financial intermediarjes.

(C) the actions of the central bank in
controlling money supply.
(D) None of the above.




111. As of end-November 2021, India was the

fourth largest foreign exchange reserves holder in
the world after China, Japan and Switzerland.
Reserves stand at US $634 billion on 31st December
2021. This is equivalent to

(A) 13.2 months of import cover.,
(B) 12.1 months of import cover.
(C) 9 months of import cover.,
(D) 5 months of import cover.

112. Which Industrial Policy is known as the
‘Economic Constitution of India’?

(A) 1948

(B) 1956

(C) 1977

(D) 1991

113. Mutual funds are regulated in India by which
among the following?

(A) RBI

(B) SEBI

(C) Stock exchanges
(D) RBI and SEBI both

114. Which of the following Five Year Plan has
laid emphasis on ‘faster, sustainable and inclusive
growth’?

(A) Eleventh Five Year Plan
(B) Twelfth Five Year Plan
(C) Tenth Five Year Plan

(D) Ninth Five Year Plan

115. M, Money in India is defined as
(A) M, Total Post office deposits.

(B) Time deposits of the public with the
banks.

(C) Currency with the public.
(D) Total Post office deposits.

D-13
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116. Which of the following is not a monetary
policy arrangement?
(A) Exchange rate anchor
(B) Monetary aggregate larget
(C) Inflation targeting framework
(D) Sterilization rate control

117. India’s Second Five Year Plan was based
on

(A) Harrod-Domar Model

(B) Nehruvian-Feldman-Mahalanobis
Model

(C) Romer Growth Model
(D) Leontief Input-Output Model

118. Considerthe following statements regarding
Rharatmala Programme:

(A) Itincludesdevelopmentof State Road
along coastal areas.

(B) Inincludes backward areas, religious,
Tourist Places Connectivity
Programme.

(C) It includes Setubharatam Pariyojana
which is for the construction of about
1500 major bridges.

(D) (B) and (C) only

119. What is the third tier of government known
as’
(A) Village Panchayats
(B) State Government
(C) Local self-government
(D) Zilla Parishad

120. To achieve a high rate of growth of capital
formation, P.C. Mahalanobis suggested that

allocation of investment to capital goods sector
should be

(A) 40%
(B) 33.3%
(C) 66.6%
(D) 50%
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121. During inflation
(A) creditors are losers and borrowers are
gainers.
(B) creditors are gainers and borrowers
are losers.
(C) Both are losers.

(D) Both are gainers.

122. Monetary policy’s relative strength in taming
business cycles depends on the
(A) degree of openness of the country.
(B) degree of flexibility in the forex rate.

(C) size of the interest elasticity of money
demand.

(D) Both (A) and (B)

123. Find the odd one out:
(A) Income Tax
(B) Capital Gains Tax
(C) Goods and Services Tax(GST)
(D) Securities Transaction Tax(STT)

124. Which one of the following is generally
regarded as the true index of economic growth?

(A) An increase in national income at
constant prices during a year.

(B) A sustained increase in real per capita
income.

(C) An increase in national income at
current prices over time.

(D) An increase in national income along
with increase in population.

125. High powered money comprises

(A) Currency held by the public + cash
reserves with banks

(B) Currency with the public + Demand
deposits with the banks + time deposits
with the banks + ‘Other’ deposits with
the RBI

(C) Currency in circulation with the
public + Bankers’ deposits with RBI +
‘Other’ deposits with RBI

(D) Currency held by the public + ‘Other’
deposits with RBI

126. Under MGNREGS, guarantee is provided
. n

for le year.
the whole Y
every person for the?
E: one person in the family for the whole
year.

(C) atleast ]
employme

00 days of gﬂﬂfaﬂtﬂﬂd wage
ntinafinancial yeartoevery

hose adult members
rural household W '
volunteertodo unskilled manual work.

Every person for 100days in the family

in a year.

(D)

127. The Union Government I?as acccp%ed the
recommendations made by the Fifteenth Finance

Commission (XV-FC) in its chun for the award
period 2021-22 to 2025-26 relating {0 the grants-

in-aid to the States amounting Lo
(A) Rs.2,00,000 crore
(B) Rs.2,33,233 crore
(C) Rs.2,50,000 crore
(DY Rs.3.00,000 crore

128. The actof simultancously buying a currency
in one market and selling in another market is

called
(A) Speculation
(B) Spotting
(C) Forwarding
(D) Arbitrage

129. Special Economic Zones in India was
established in India following

(A) Japanese model
(B) American model
(C) Russian model
(D) China model

130. ‘High Powered Money’ is also known as
(A) Narrow money.
(B) Reserve money.
(C) Broad money.
(D) Both (B) and (C)
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131, The First Five Year Plan was based on
(A) simple Harrod-Domar model.
(B) Solow model.

(C) a simple varant of Harrod-Domar
model.

(D) Leontief model

132. In the past, Planners announced the Plan
Holiday for three years. They were as follows:

(A) 1951-52, 1952-53, 1953-54
(B) 1961-62, 1962-63, 1963-64
(C) 1966-67, 1967-68, 1968-69
@) 1971-72, 197273, 1973-74

133. India’s exchange rate follows
(A) fixed exchange rate policy
(B) flexible exchange rate policy
(C) managed float
(D) None of the above

134. India faced a serious balance of payments
problem in

(A) 1980-81
(B) 1990-91
(C) 2000-2001
(D) 2010-2011

135. PM SV ANidhi SchemeisaSchemerecently
in light to
(A) provideconcessional credit to farmers.
(B) reduce poverty by organizing the rural
poor women into Self Help Groups.

(C) provide working capital loan o urban
street vendors to resume their
businesses.

(D) provide loan to CcOVID-affected
people.

CSM(C)9/22

136. In order to reduce the impact of the shock
caused by the COVID- 19 second wave and support
the recovering economy, Government of India
announced additional relief measures in 2021-22.
Find out which one among the following is NOT
the stimulus package for COVID-19 reliefs.

(A) Extension of Atmanirbhar Bharal
Rozgar Yojana

(B) Credit Guaraniee Scheme for Micro
Finance institutions

(C) Non-Release of climate resilient
gpecial traits varieties

(D) Free food grains under PMGKY (May
to November, 2021)

137. Whichoneofthe following is NOT included
in the foreign exchange reserves of India?
(A) Foreign currency assets held by the
RBI

(B) Gold holding of the RBI
(C) Silver holding of the RBI
(D) SDRs (Special Drawing Rights)

138. Allofthefollowingare international reserves
except
(A) SDRs
(B) Gold
(C) Foreign credits not yet received
(D) Foreign Currency Assets

139. India’s Fourth Plan could not be launched
on time due o

(A) Chinese aggression.

(B) conflict with Pakistan.

(C) both Chinese aggression in 1962 and
conflict with Pakistan in 1963

(D) None of the above

140. Independent India’s serious efforts (o
alleviate poverty began with the famous slogan

(A) Joy Jawan, Joy Kishan

(B) ‘Garibi Hatao' of the 1970s
(C) Workers of the World Unite
(D) None of the above
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141. Underamanaged floatexchange rate system,
the RBI can intervene in Foreign Exchange Markets
o

(A) smooth out short-run fluctuations in
exchange rates

(B) control inflation
(C) increase demand
(D) decrease the supply of money

142. The fiscal policy is weakened by the presence
of

(A) Public debt
(B) Fear of capital flight

(C) Interest sensitiveness of investment
(D) All of the above

143. Whatis another name given to outsourcing?
(A) Mululateralism
(B) Mercantilism
(C) Offshoring
(D) Dumping

144. The power of the RBI to fix the CRR has
been given under
(A) Banking Regulation Act
(B) Companies Act
(C) RBI Act
(D) Finance Act

145. Presently the most common tool with RBI
to influence interest rates in the country is

(A) Bank rate

(B) Repo rate

(C) Exchange rate
(D) Treasury bills rate

D-16

146. InIndia,the main source of national income

1S
(A) anar}f seclor

(B) Secondary sector
[C) Tertiary sector
(D) Foreign-sector

147. The Employment Guarantee Actunderlying

the MGNREGS is a
(A) Demand-driven scheme.

(B) Supply-driven scheme.

(C) Both demand as well as supply dniven
scheme.

(D) None of the above

148. The main foundation of Fifth Five Year
Plan was

(A) Harrod-Domar Model.
(B) Investment Model.

(C) Harrod-Domar one sector model,
Leontief Input-Output Model and a
Consumption sub-model.

(D) None of the above.

149. NITI Aayog came into operation on
(A) 1st April, 2014
(B) 1st April, 2015
(C) 1stJanuary, 2015
(D) Ist January, 2016

150. NITI Aayog was set up by
(A) resolution by Union Cabinet

(B) amending the Constitution of India
(C) Both (A) and (B)

(D) Neither (A) nor (B)
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151. Banks are required to maintain a certain
ratio between their cash in the hand and total assets.
This 18 called

(A) A Statutory Liquidity Ratio (SLR)
(B) Central Liquid Reserve (CLR)
(C) A Statutory Bank Ratio (SBR)
(D) Central Bank Reserve (CBR)

152. Which year is considered as ‘Golden Year
of Fiscal Discipline’ during the 2010s?

(A) 2005-06
(B) 2006-07
(C) 2007-08
(D) 2008-09

153. Arrange the following in the chronological

order:
(a) Mahalanobis model

(b) Introduction of rolling plan

(c) Declaration of plan holiday

(d) Inclusive growth strategy
Select the answer from the code below:
(A) (b), (a), (c), (d)

(B) (a), (c), (b), (d)

(C) (c), (a), (b), (d)

(D) (a), (c), (d), (b)

154. Inthesecond Nationalization of Commercial
Banks, banks were nationalized.

(A) 8
(B) 6
(C) 5
(D) 4

155. Which one of the following represents
capital adequacy ratio for Commercial Banks?

(A) Ratio of bank’s available capital o
risk-weighted assets

(B) Ratio of capital to short-term deposits

(C) Ratio of capital to non-performing
assets

(D) Ratio of capital to advances
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156. Which one of the following is a'qualitative
credit control method?
(A) Open market operation
(B) Repo rate and reverse repo rate
(C) Variable cash reserve ralio

(D) Moral suasion

157. FEMA was introduced in which year?
(A) 1999
(B) 2000
(C) 2002
(D) 2004

158. The rate at which Central Bank lends o
Commercial Banks is known as

(A) Open Markel Operation

(B) Reserve Rate

(C) Discount Rate

(D) SLR

159. Demonetization isapartof monetary policy
of a country, which means

(A) increase in supply of money to the
public.

(B) decrease in supply of money to the
public.

(C) Control of inflation.
(D) All of the above

160. REPO Rate is always
(A) greater than Reverse REPO Rate.
(B) less than Reverse REPO Rate.
(C) equal to Reverse REPO Rate.
(D) Only (A) and ( C)
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161. When power is taken away from state
governments and is given to local government, IL1S
called

(A) Decentralization
(B) Centralization

(C) Panchayat Samiti
(D) Federalism |

162. Which ofthe following statements is correct?

(A) Gross non-performing loans of public’
sector banks have declined.?

(B) Net nonperforming loans as a
percentage of total assets have
increased.

(C) Net profits in public sector banks as a
percentage of total assets have
increased. .

(D) Both (A) and (C) are correct.

163. Which of the following is dedicated to
empowerment of girl students in India?

(A) Sarva Siksha Abhiyan
(B) Beti Bachao Beti Padhao
(C) UDAN

(D) Mid-day Meals

164. Which one of the followingitemsisincluded
in the capital account of the balance of payments?
(A) Invisibles |
(B) Investment income
(C) Commercial borrowings
(D) Pnvate transfers

165. India has been able to resolve, to a large
extent, the trilemma of the famed ‘Impossible

Trinity’ by
(A) altering fixed rate.
(B) thecombination of managed flexibility
and partial capital account controls.

(C) altering money supply and removing
distortions in the market.

(D) borrowing from the IMF.
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166. Dr. M.S. gwaminathan is associated with

(A) industry

(B) ag;iculture
(C) infrastructure
(D) foreign trade

167. The most striking feature of ;:Et szurr:::jri
o o ' nomy
hange in the Indian r?:::n. :
znn U'igbumr to grnwrh, raising is share il:fl; zhbag;uy
i national output in the recent deca |

(A) pre-eminence of ﬂgricu]tural sector.

(B) pre-eminence of services sector.
(C) pre-eminence of industrial sector.

(D) pre-eminence of external sector.

168. In India, which one among the following

formulates the fiscal policy?
(A) NITI Aayog
(B) Ministry of Finance
(C) Finance Commission
(D) The Reserve Bank of India

169. Find the odd one in the following list:

(A) The Finance Commission reviews the
state of finances of the Union and the
States.

(B) It 'suggests a plan for restructuring
public finances.

(C) Itmaintains macroeconomic stability.

(D) It looks into the growing disparity
between the urban and rural
population.

70. Which of the following pairs is NOT
correctly matched?

(A) Rangarajan : Balance of Payments
Committee

(B) Kelkar
Committee

. Tax Reforms

(C) Tarapore : Capital Account

Committee  Convertibility
(D) Chakravarty : Power Sector Reforms
Committee




171. The D‘?E“ Dayal Upadhyaya Grameen
Kaushalya Yojana (DDU-GKY)

(A) is a youth development program for
the urban sector, |

(B) is a

development scheme for rural youth
who are poor.

(C) 1s a women empowerment scheme.
(D) poverty eradication scheme.

172. Indicate the correct statement.

Early phases of Indian development
planning experienced

(A) Export-led growth

(B) Import substitution

(C) Managed float exchange rate

(D) Hefty amount of foreign exchange
reserves

173. The Reserve Bank of India (RBI) acts as the
“banker’s bank™ in the sense that

(A) Thescheduled banks can borrow from
the RBI in time of need.

(B) The RBI fixes the conditions of cash
reserve requirement which the
scheduled banks have to follow.

(C) The RBI controls the credit operation
of the scheduled banks.

(D) The RBI controls the banking system
through the system of licensing.

174. The practice of using fiscal and monetary
policy to stabilize the economy is known as
(A) Laissez-Faire economics. |
(B) Fine tuning of demand
(C) Supply side economics
(D) Monetarism

175. When the RBI announces an increase in
CRR, it means
(A) The Union Government will have less
money to lend.
(B) The RBI will have less money tolend.
(C) The Commercial banks will have less
money to lend.
(D) All of the above

placement-linked 'skill .
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176. ‘“The Third Pillar;: How Markets and the
State Leave the Community Behind”—the book

was written by
(A) Raja Chelliah
(B) Raghuram G. Rajan
(C) Amartya Sen
(D) Urjit Patel

177. Rate of interest rate is being reduced in
India
(A) to reduce the burden of public debt.
(B) to create easy credit facilities.
(C) toalign the interest rate structure with
world interest rates.
(D) to control the inside trading of share.

178. Firstthree decades of development planning
observed

(A) High growth rate of GDP

(B) Hindu rate of growth of GDP

(C) Very high agricultural growth rate
(D) All of the above

179. Prior to 1991, the RBI regulated
(A) Reserve money
(B) Narrow money
(C) Broad money
(D) Arbitrage

180. Sukhomoy Chakravarty Committee is
famous for

(A) Agricultural reform

(B) Trade reform

(C) Tax system

(D) Reforms of the monetary system
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181. Which one of the following is NOT a source
of the State tax revenue?

(A) Land revenue
(B) Motor Vehicle tax
(C) Entertainment tax
(D) Corporate tax

182. Indiawitnessed firstapositive trade balance
in the

(A) 1970s

(B) 1980s

(C) 1990s

(D) None of the above

183. In the Indian context, which one of the
following pairs is NOT correctly matched?

(A) Tax Evasion : Parallel economy
(B) High-Powered : RBI
money
(C) Female work
participation

- Disinvestment

rate
(D) Liberalization : 1991 Economic

Policy

184. India’s first effort to eradicate poverty was
started from

(A) Second Five Year Plan
(B) Fourth Five Year Plan
(C) Fifth Five Year Plan
(D) Sixth Five Year Plan

185. Strategically the open market operations
(OMPs) 1s more effective than the bank rate policy
to control money supply and inflationary pressure
since

(A) OMPs are done by the commercial
banks.

(B) OMPs are not used to make bank rate
policy effective.

(C) OMPs are done exclusively by the
central bank and no association or
consultation with the commercial
banks is required.

(D) None of the above
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' the most
186. Which of the follow1ng represents

expansionary fiscal policy? .
(A) Rs. 10billion increase 1n g
spending
(B) Rs. 10billi
spending
(C) Rs. 10 billion tax cut
(D) Rs. 10 billion tax increase

overnment

on decrease in government

’ by the RBIimplies

: {operations
187. ‘Openmarketop ey e

(A) control of lending O
RBI.
(B) closure of banks 0

the RBI.
(C) sale and purchase of government

securities by the RBI. |
(D) inspection of commercial banks by

the RBI.

n the directions of

188. Which one is the Apex institution as a
source for providing rural credit in India?

(A) Regional Rural Banks
(B) State Cooperative Bank

(C) Central Cooperative Bank
(T NABARD

189. Which one of the following 1s NOI the
objective of monetary policy of India?
(A) To accelerate economic development
(B) To achieve price stability
(C) To regulate foreign trade
(D) To stabilize exchange rate

190. Against the backdrop of Disinvestment
Policy of the Government of India, New Public

Sector Enterprise (PSE) Policy for Atmanirbhar
Bharat was notified on

(A) Sth January, 2021
(B) 4th February, 2021,
(C) 5th March, 2022.
(D) 10th March, 2022.
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191. Deficit financing is akin to

(A) financingthebudgetary deficitthrough
public loans and creation of new
money.

(B) the expenditure which is in excess of
currentrevenue and public borrowing.

(C) Both (A) and (B)

(D) None of the above

192. Which of the following regarding the
activities of the RBI is NOT correct?

(A) The RBI now accords substantial
freedom to banks in optimizing their

portfolios as well as pricing their
products.

(B) Prudential norms have been instituted

and the supervisory framework
strengthened.

(C) TheRBInow offersincentives tobanks
in the areas of infrastructure financing
and housing loans.

(D) Statutory pre-emptions have been
progressively increased by the RBI.

193. Budget deficit does NOT take into account
(A) revenue deficit.
(B) capital budget deficit.
(C) balance of payments deficit.
(D) interest payments on public debt.

194. GST was recommended by
(A) 13th Finance Commission
(B) 14th Finance Commission
(C) 15th Finance Commission
(D) None of the above
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195. The system of Panchayati Raj involves
(A) Village, State and Union levels
(B) Village, District and State levels
(C) Village and State levels
(D) Village, Block and District levels

196. Which of the following statements is correct?

‘Impossible Trinity' disallows the
simultaneous achievement of

(A) exchange rate variability, monetary
dependence and capital market
integration.

(B) fixed exchange rate, monetary
independence and capital account
opening.

(C) exchange rate stability, monetary
independence and capital market
integration.

(D) monetary independence, pegged
exchange rate and capital control.

197. Guidotti Rule is associated with
(A) reserve management
(B) exchange rate management
(C) inflation management
(D) stagflation management

198. Stagflation refers to a situation which is
characterized by

(A) deflation and high unemployment.
(B) inflation and rising employment.
(C) inflation and rising unemployment.
(D) stagnant employment and deflation.
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1. The average of 5 consecutive numbers is
15. The greatest number is

“ (A) 17
(B) 19
© 11
(D) 15

2. Find the value of x from the following
equation.

Ox+7 x-2
2 ‘["“("v—ﬂ=?6 |
l/(A) 9
(B) 18
(C) 5

(D) 4

@ 08 —

3. The hundreds digit of the square root of the
square number 3, 15, 844 is

(A) 8 \0
(B) 4 Q2 4 \®

©) 5 Laj ﬁj

(D) 6

4. In AABC, ZB = 90°, AB = 12cm,
BC = 16cm. The area of semicircle drawn on
diameter AC is C,

(A) 157cm? /
(B) 3l4cm? ‘(_’o
(C) 150cm? |
(D) 328cm? ~B-

B-2

23 24 25 26
5. Value of (o 127 +77 is
(A) 7P x5
(B) 7 x 175
(C) 72 x 175

(D) 7% x 35

6. \/12+J12+\/12+... is equal to

(A) 2
(B) 3
v (C) 4
(D) 6

7. Whichofthe following numbers is divisible
by 3,4, 5 and 77

(A) 3150 X

(B) 1400 ¥
L-(C) 2940

D) 3570 ¥

8. Aloanwasrepaidintwoannual instalments
of ¥ 3,630 each. If the rate of interest be 10% per
annum compounded annually, then find the sum
that was borrowed.

(A) 5,200
(B) T 6,100
(C) ¥ 6,300
(D) ¥ 5,600

174

9. In the given figure AB and DE are
perpendiculars to BC.IfAB=6c¢m, DE=4cmand
AC=15cm, thenCD =?

(A) Sem A

(B) 2¢m

(C) 10em

(D) 4cm Bl E C

= -
11’7{?{.‘3 ¥ 0
= "'f,!— '
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10. In a seminar the number of participants in
Mathematics, Physics and Biology are 192, 240
and 168 respectively. Find the minimum number
of rooms required if in each room same number of
participants is to be seated and all of them being of

the same subject. 67
(A) 20 @ ade, |

(B) 25

\/(C) 28

(D) 30

11. Thehypotenuse of aright-angled triangle is
41 cm. The sum of the other sides is 49cm. Then
the area of the triangle is

(A) 360cm?® M -
(B) 720cm? ,: Al (@
(C) 180cm?

(D) 120cm?®

LA

12. Thesmallestnumber whichisbeingdivided
by 8,9, 12 and 15 always leaves 1 as a remainder
is

L (A) 361

(B) 359
(C) 181
(D) 197

13. The speed of a bus is 54 km/h excluding
stoppages and 45 km/h including stoppages. The
bus will stop per hour for

(A) 8 minutes

(B) 10 minutes
+AC) 12 minutes

(D) 15 minutes

14. The roots of the quadratic equation

- 1,3 -}r" a+b#0,are

B-3

5 years. The rate of interest is

16. Intwotypes of brass, the ratio of copper and
zinc are 8 : 3 and 15 : 7 respectively. If these two
types of brasses are mixed in the ratio 5 : 2, thenin
the mixture the ratio of copper and zinc will be

(A) 5:2
(B) 2:5
() 3:3
(D) 3:5

17. Find the wrong number in the following
series:

16, 14, 24, 66, 250, 1270
(A) 250

(B) 66

(C) 16

(D) 1270

18. Let x= :ﬁ; y= Yland z W , then
which of the following relations is true?

(A) x<y<z
(B) z<x<y
(C) y<z<x

D) x>y>z
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I5. A person has deposited some amount in 2
bank and becomes T 500 in 3 years and 2 540 in

(A) 4”& i"l
6 - ‘
C) 4—% /
l] fk’c
Z o
(D) 5% %) A ,",./"(7‘:'/ «
’f /,-’")\1 o
( y
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19. 1If the centroid of the tn'mglc formed by the
points (a, ), (b, ¢) and (c, a) is the origin, then

a+b+ct=__ A
(A) abe
(B) 0
©C)a+b+c 1) \ o,
(D) 3abc

20. In a math lesson Shamali drew some
triangles and some quadrilaterals. She drew
27 polygons altogether and a total of 99 vertices.
Then total number of triangle she drew—

v (A)9 i 2374
(B) 3 g 4
(©) 27 an
(D) 33 LN
q \2

4
21. A keeps 10 ships for 3 weeks and B keeps
15 ships for 4 weeks. Find the ratio of the rent paid

by them.
L (A) 1:2 Wwr3s . 154

(B) 2:1
) 3:1
(D) 1:3

22. Tocoveradistance a man first goes % th of
the journey by train, 20% of the remaining by bus
and still he has 6 km. The total distance is

(A) 8km o

(B) 10km bY* " s
_~ (C) 12km e

(D) 16 km

23. A batsman has certain average of runs for
11 innings. In the 12th innings he makes a score of
90 runs, thereby increasing his average by 5. His
average after the 12th innings is

(A) 30

L B)35 gy U\ 5)
(©) 40 6
omn %

24, Thc‘itlthlcrnmfthcchucncc—l-.l,—g— cen s
(A) 15
2 2 4
© 2 36
® 3

25. The annual increase in the population of a
town be 10% and the present population is 13310.
The population last two years ago was

«—(B) 11000 xrgip A2 173
(C) 10500 lll" od m‘ﬂ'
(D) 11500 "7‘71? /riy

26. A hotel bill for a number of people for
overnight stay is ¥ 4,800. If there were 4 more
people, the bill each person had to pay, would have
reduced by ¥ 200. Then the number of people
staying overnight is

v (A) 8 "
(B) 6 b
©) 10 g,,{ kOD
(D) 12 \:'”"

27. The angles of a quadrilateral are in A. P.
with common difference 20°, Then the smallest

angle is
(A) 100° Py a2 TR ATNE
ow
_~ (D) 60° 4 s W

}}LM
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28. Find the equation of a line parallel to y-nxis
and passing through the point (- 3, 4),

(A) x+3=0

M) x=-3=0 «

C) x+4=0 s
D) x-4=0

-
Lo
-~

ts

!

29. When 50% of one number is added to a
second number, the second number increases toits
four-third. What is the ratio between the first
number and the second number?

(A) 3:2
(B) 3:4 50" 7

— (C) 2:3
D) 1:3 é’
h%@!\ -~ B?bl

g T

30. Equal weights of alloys ‘x’ and ‘y" which
contain zinc and tin in the proportion of 8 : 3 and
6 : 5 respectively are melted to form a third alloy
‘2', *z’ contains zinc and tin in the proportion of

q
(A) 4:7 _3_*,—"):(——?--%";‘"“
@) 3:5 Qv e/ "
©5:3 ,%;
D) 7:4 = A
; O

31. A person was appointed for a 50 day’s job
on a condition that he will be paid ¥ 12 for every
working day but will be fined ¥ 6 for everyday he
remains absent. After completion of the work, he
got T 420, How many days he did not work?

(A) 15 days
(B) 5 days
__ (C) 10 days
(D) 20 days

CSM(C)10/22

32, A square lawn is bounded on three sides by

a path 4 m wide. If the area of the path is ! that of
the lawn, then each side of the lawn is
(A) 10m
(B) 12Zm
AC) 166m
(D) 18m

33. The volumeofacylinder of radius ris i— of

the volume of a rectangular box with a square base
of side length x. If the cylinder and the box have
equal heights, what is the value of r in terms of x?

2
(A) Z—

E

(B)

4

n

(C) X=X

(D)

ﬁ'*‘ alﬁ

34. At 12 pmbothhands of a wall clock, placed

normally on the wall, point to the North. In which
direction the hour hand will be point at 3 am?

_~~ (A) East
(B) West
(C) South
(D) North L

&5~

35. The hypotenuse of a right-angled triangle is
26 cm and the sum of other two sides is 34 cm.
Then the lengths of the two sides are

r—(A) 10cm, 24 cm
(B) 8cm, 26 cm
(C) 12cm, 22 cm f

(D) 14cm, 20 cm 6} N

Please Turn Over

20

G Scanned with OKEN Scanner



fa. -

a—

CSM(C)10/22

36. Find the number which is subtracted from
the numbers in the ratio 11 : 23 so that the ratio
becomes 1 : 3.

v (A) S

= _2

(B) 6 23n
©) 7
(D) 8

L
37. A motorboat tovers a certain distance
downstream in a river in five hours. It covers the
same distance upstream in six hours. The speed of
water is 2km/h. Then the speed of the boat in Stlll

water lS
A) 20kmh V'¢ 0 S DN
®) 2kmh  ©.% %,
(©) 30kmh T '
(D) 25km/h

38. Find the number of triangles in the given
figure.

(A) 18
(B) 20
(C) 24
(D) None of the above

39, Three friends started a partnership business
with capitals ¥ 5,000, ¥ 6,000 and ¥ 7,000 _
respectively. After one year they found a loss of
¥ 1,800. To keep the capital same they decided to
share the loss among themselves in the ratio of
their capitals. The amount each one has to pay is

(A) T420,%610,% 700

(B) T490.T600,T710

(C) T500,% 580, % 720
/V(B‘) 500, % 600, 700
P

40. A mixture of 40 L. of alcohol and water
contains 40% water. How much water should be
added to the mixture so that new mixture contains

20% water? Al W
(A) 5L 94 (6 . 2\
(B) 9L
(C) 8L
(D) 6L Oox <
)

41. Acomputerdepreciates atarate of 25% p.a.
If it was worth ¥ 26,000 new, how many full years
must pass, before it worth less than half its original
value?

~ (A) 2 years
(B) 3 years
(C) 4 years
(D) 1 year

42. If the value of a gold coin is increased by
20% each year, then the percentage increase of the
gold coin over three years is

(A) 80-5% ‘ 4 19

(B) 60% e *‘\W
v (C) 72:8% Q& X

(D) 70-1% = X~

43. At a certain school, there are 320 Jjuniors
and 180 seniors. The average absenteeism rate is

6 % for juniors and 8 ; % for seniors. Then the

average absenteeism rate overall for the school is

(A) 5% Angert
(B) 6%

on  @®
(D) 8% _?:—'S‘:‘ ﬂt.g

44, IfLCMoff(x)and g(x)is 6x*+ 13x+6, then
which of the following can not be HCF of f(x) and

g(x)?

(A) 2x+ 3
(B) 3x+1
(C) (2x+3)(3x+2)
(D) 3x+2
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. .45. A began a business with T 10,500 and is
joined afterwards by B with ¥ 18,000. After how

many months did B join, if the profit at thg end of
the year is divided equally?

(A) 15 months
(B) 10 months
~1(C) 5 months
(D) Couldn’t be determined

- 46. In the given figure, ZPQR = 120°, where

P, Q and R are points on a circle with centre O.
Then ZOPR is

(A) 20°
(B) 10°
__(C) 30°
(D) 40°

47. A pole of length 12m casts a shadow of
length 15-6m. Then the length of the shadow cast
by another pole of length 18mis

() 234m \%h
(B) 24m
(C) 46:8m

(D) 31-2m \5 b

48. A cuboid with length 14 cm and breadth
11 cm and a cylinder have the same height and
volume. Then the radius of the base of the cylinder

is
(A) 1lcm
(B) S5cm
(C) 7cm
(D) 9cm

CSM(C)10/22

49. The smallest number by which 6400 must
be multiplied to make a perfect cube is

(A) 2

400

~(B) 4 ¥ (S5

©) 8 koL
(D) 10 '

50. Theratioin which two sugar solution of the
concentrations 15% and 40% are to be mixed to get
a solution of concentration 30% is

__(A) 2:3
(B) 3:2 \& }o
©) 8:9 ﬂ'}o
(D) 9:8 S~
o - \S

51. Which of the following numbers has the
maximum number of divisors?

03
(A) 108 — '4/39/

®B) 99— %49+ ﬂi%
i 1

©) 154 — A%

@14 T

52. A boy was asked to find 3 % % of a sum of

money. He misread the question and found 5 2 %

of it. His answer was T 247-50. The correct answer
is

(A) T 100
B) T 15750
(€) T159-50
(D) Z160

53. Atafair,aboy tries his skill in shooting. He
was toreceive I 2 forhitting the ‘bulls eye’ and had

to pay ¥ 1 for missing it. He tried 60 shots but
received only ¥ 12. Then he hit the bull’s eye

(A) 12 times
(B) 6times
(C) 24 times
(D) 30 times

Please Turn Over
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54. The population of a town is 24000. If the
number of males is increased by 6% and the
number of females by 9%, then there would be
25620. The number of males and females in the
town are

_~(A) 18000, 6000
(B) 16000, 8000

N

(C) 14000, 10000 o s

(D) 17000, 7000 [« e
Q_t"c‘, ,{&

55. In 4years 6,000 amounts to ¥ 8,000. In ]

what time at the same rate of interest will ¥ 525
amounts to ¥ 7007 . '

(A) 4 years

(B) 3 years Ay 46% 83
(C) 2 years _’gﬁ %< W

(D) 5 years Bw

7~
56. A peon has a salary of ¥ 1,000 per month
and a carpenter earns X 30 per day, but he is idle for
65 days in the year. The ratio of their income is

(A) 4:5 -

(B) 5:6 l'zbﬁg g “M
AC) 4:3 ~ a.3

(D) 3:4 .

57. The ratio of ladies and gentlemen at a party
was 3 : 2. When 20 more gentlemen joined the
party, the ratio was reversed. The number of ladies
present at the party was

Qo
(A) 18 ke o B
(B) 36 %’fw >
(©) 24 Z AmTA0
(D) 30 qQh.= P 8

58. A teaseller faces 20% loss selling a certain
brand of tea at the rate of ¥ 80 per kg. By selling
another brand of tea at the rate of T 200 per kg, he
makes a profit of 25%. In what ratio the seller
needs to mix the two brands of tea in order to make
25% profit by selling the mixed branded tea at the
rate of ¥ 150 per kg?

(A) 1:2
(B) 2:3
C) 2:1
(D) 3:2

u

P
eﬁﬁ%

e
B-8 { ¢© ’ ;
\0 | 2

59. Thearcaofacircleisincreased by 22 sq. m.
when its radius is increased by 1 m. Find the
original radius of the circle.

(A) 6m
(B) 3m

1
(C) 35111

(D) 3% m

60. The average temperature of a city in the
first four days of a month was 58 degree. The
average of the 2nd, 3rd, 4th and 5th days was
60 degree. If the temperatures of 1st and 5th days
were in the ratio 7 : 8, then what is the temperature
of 5th day?

(A) 64 degree
(B) 62 degree
(C) 56 degree
(D) None of the above

61. T}vo cylinders are such that the ratio of their
base radii is 2 : 1 and the ratio of their heights are
31 1. Then the ratio of their volumes is

(A) 6:1 5
T @121 Avth Q_P*k
©) 5:1 TP WA

(D)]:l :‘)\‘l

62. The sum of two numbers is 150 and their
H.C.F. is15. The number of possible pairs is

~(A) 2

(B) 3 ‘0/ \*+
(©) 4 — %t
(D) 5 &
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equal to
1001

999 -—x%:*'i"[““
999 ’
1001
1001
3
5
1001

(A)
(B)
—(0)

(D)

64. If & A
how many [0 balance one T3 ?
(A) 7
(B) 3
€) 6
(D) 5

65. A bus maintains an average speed of
60 km/h while going from P to Q and maintains an
average speed of 90 km/h while coming back. The
average speed of bus is

(A) 75 km/h 0, 2 A
_~ ®) 12kmh 4 b

©) 70kmh ¥

(D) 80 km/h f

66. A person has money to buy 42 suilcases at
the rate of T 500 each. If the cost per suitcase is
increased by T 100, then number of suitcases he
can buy now is

(A) 30 ’»)v, o .;Arb# e
—(B) 35 vt

(C) 38 "G~ "

(D) 40

T3~

Y =8
oz BT

CSM(C)10/22

67. Mohitpurchased a plotof land forZ 12,500).
After 1 year due to recession the value of his land
fell by 5%. In the 2nd year, the value increased by
8%. Then the value of the land after 2 years is

(A) T 12,500 44‘%
(B) T 12,000 724
(C) T 12,800 A’g
(D) ¥ 12,825 2,7

68. In the given figure, AB || CD and PQ, QR
intersect AB and CD both at E, F and G, H
respectively. Find the value of x.

. ‘b a3
W L T
(B) 20° A<
(©) 30° ~ W

(D) 10°

ofo
69. A sum of money is borrowed anAd back
intwo annual instalments of X 1,764 eachallowing

5% compound interest. What was the sum
borrowed?

(A) 4,000
(B) T 3,340
(©) T 3,000
(D) 3,280

70. A man sold 2 articles at the same price
T 2,970 each. Onone he made aloss of 10% and on
the other a gain of 10%. The overall gain or loss
percentage is

A) loss 1%
/( ) loss
(B) gain 1%
(C) No loss or gain
(D) gain 0-1%

)9—) (3 (226 Please Turn Over
s) (3 (2%

~— 10

l¢62/9
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71. A business man marks his good at 20%
above the cost price. He allows the customers a
discountof 8% on market price, His net percentage
of profit is

B-10

76. In the given figure, PT is the tangent of a
circle with centre O at point R. If diameter
SQ is increased, it meets with PT at point P. If
ZSPR = x° and ZQSR = y°, what is the value of

2
10 -8 — =4,

L TA) 104% e x4 2y°1
(B) 10% Lo
(©) 102% =\~
(D) 10-6% ok

72. The radius of a wheel is 14 m. How many
revolution will it make in travelling 880 m?

(A) 10 1 A) 90°
27 £ (A)

(B) 12 f ':'Vf‘ VA (B) 105°

© 14 (C) 135°

73. The numerator of a fraction is 6 less than its

denominator. If 3 is added to the numerator, the 77. DivideZ 2,600 in 3 parts in such a way that

fraction becomes equal to 2 . Then the original

3 the interest at 4% of the first part, 6% of the 2nd
fraction is o xD Z part and 8% of the 3rd part becomes equal.
7 i S (A) T 1200, T 800, T 600
A) 13 e 'Y (B) % 1100, T 900, T 600
1 3,\-&0\ y (C) T 1000, T 900, T 800
(B) 7 5 (D) %1200, T 1000, T 800
3 L
L/C) 9
5 78. An equilateral triangle CDE is constructed
(D) 11 on a side of CD of square ABCD. The value of
ZAEB is
74. If 6 men can harvest a field in 60 working (A) 150°
hours and a man works three times as fast as a boy. (B) 45°
Then 10 boys can harvest a field in " (©) 30°
(A) 60 hours GrGe = Y60 Uw e (D) 20°
(B) 40 hours - 1080 uw|rothey
(C) 100 hours

79. In a restaurant, John has 4 choices for
starters, 6 choices for the main course and 5 choices
for dessert. Then number of different 3 course
meals John can order is

v~ (D) 108 hours

75. If \/34596 = 1.86, then /3459600 ="

(A) 186 (A) 100
1B) 1860 (B) 150
(C) 186 (C) 120
(D) 1-86 (D) 200
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80. A block of cheese 5cm by 6em by Bem i
covered with wax. If the cheese is cut into one

centimetre cubes, then number of cubes not having
wax on them is

(A) 72 5
(B) 240
(C) 210
(D) 120

-~
-

ZA

81. A solid spherical ball of radius 4cm is
melted and recast into 64 identical spherical

marbles. Then the radius of each marblg is
(B) 1'secm 3 S
(C) 0-2cm (L‘? - o0
(D) 1-2cm U !
o
82. Successive discounts of 10% and 30% are
equivalent to a single discount of 162
(A) 73% —\p~ %0 + —-l-a;;
(B) 36% o Aosd
(C) 38% - _23
_-(D) 37% *

83. In the given figure (not drawn to scale),
PQRS is asquare, A OPQis an equilateral triangle,

then the value of x is 0
(A) 20°
(B) 25° P Q
(C) 15°
(D) 10° S R

84, A certain amount of money is kept for
2 years at certain simpleinterest. If the interest rate
is 3% higher, then it will bring T 300 more.
The amount of money is

(A) T2,000
(B) T2,500
(C) T3,500

Wy

v % 5,000

CSM(C)10/22

B5. In a Zoo, there are lions and parrots. If
counted, there are 100 heads and 290 legs. How
many parrots are there?

¥ e
- (A) 55 (o A
(B) 65 /
(C) 45 S na o
(D) 75 ~
45 20

86. Study the following alphabetical sequence
and answer, the cstqi ased on it.
arAsTIOvEHKALMOOCPS
If we drop all the vo:ivc]s’fgr(}rori above series, then
the middle position occupied by

o oy A7
_—~(B) H & ca
(D) V

+ 76

87. In a partnership between A and B, A’s

%lh of the total and invested for %—

If his share of profitis 5.?- ofthe total, then how long

capital is year.

is B’s capital in the business? A 158
(A) 6 months §To
(B) 4 months 26°
(C) 8 months gl
(D) 3 months
- A/ EN = A
i

Didal S
88, lfx=J;+J2+~12 +... . then the value of

X 18
(A) 1
L (B)2
(©) 3
(D) 4

Please Turn Over
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89. A telegraph post gets broken at a point
against a storm and its top touches the ground at a
distance 20 m from the base of the post making an
angle 30° with the ground. What is the height of the
post?

40

(A) —= m
3

(B) ?.O\E m

(©) 40V3 m
(D) 30m

90. The average of 7 consecutive number is 20.
The largest of these numbers is

(A) 24
_ (B 23
©) 22
(D) 20

91. Atthe time of wedding, the bride’s age was

%of the groom’s age. After 8 years, her age is %
of her husband’s age. Then the age of the bride at
the time of her wedding is

(A) 24 years

(B) 18 years

(C) 19 years

(D) 26 years

92. In a partnership business, Amal invested
capital double the capital of Palash. The ratio of
the period of investment is -% : %.Then the ratio
of their profit is

(A) 1:3
(B) 3:1
(C) 6:1
(D) 2:3

B-12

93, A takes as much time to do a piece of work
as B and C take to do it working together. If A and
B together can do the same work in 1‘0 da.ys anq 2
alone can do it in 20 days, find the time in which

B will finish this work.
(A) 40 days
(B) 60 days
(C) 80 days
(D) 20 days

94. What should come in place of the question
mark? ~~
7,8, 18, 7, 232_, 1165
(A) 84
(B) 42
—(C) 57
(D) 36

95. Eis point on median AD of AABC. If area
(AABE) = 10 cm?, then area (AACE) is

A
E
B D C
(A) 20 cm?
(B) 5cm?
(C) 30 cm?
(D) 10 cm?

96. Two cyclists start from the same place in
opposite direction and goes towards north at
18 km/h and the other goes towards south at

20 km/h. What time will they need to apart
47'5 km?

(A) 2 hours

1
(B) lz hours
(C) 3 hours

|
~ (D 25 hours
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2 2 1 |
2745 %275 -243 %245
97. The value of 3 g :; 3 is
275 -242
~(A) 52 3 3
(B) 53
(©€) 54
(D) 56

98. If 2a+ 1)(2a+2)2a+3)2a+4)+qisa
perfect square, then g = ?

(A) 24

B) 1
(€) 12
‘(D) -8

99, Vandana bought a watch for ¥ 600 and sold
it on the same day for ¥ 688-50 at a credit of
9 months and this way she gained 2%. Find the
rate of interest per annum.

2
=%
3
®) 155%

© 13%

(A) 16

2
(D) 55%

100. If AD is bisector of ZA and AD is

perpendicularto BC,thenAABCis triangle,
. A
B D €

(A) lsosceles

(B) Equilateral

(C) Scalene

(D) None of the above

CSM(C)10/22

101. A student was asked to multiply a number
by -g- but he divided the number by % . His result
was therefore 10 less than the correct answer. Find
the number.

" v X
(A) 10 "‘:%@ ,
s Y
(B) 12 (L 7y ~
S L .7
(©) 15 ?{-{'.-ﬁ
(D) 20

102. The G.C.M. of two numbers is 17 and their '97/
product is 6936. The no. of pairs of such numbers
is :

L.
/s

R

) Z ;%)4"5 ¢/
A

103. A andB start from the same place and travel
in the same direction, B starting 2 hours after A. If
Atravels40km/h and B travels at SO km/h, then the
distance they have travelled when B overtakes A is

(A) 4
(B) 2
© 3
D) 5

AA) 400km
(B) 500km :
(C) 700km ;‘fg ’l
(D) 550km 10

104. Two persons are a metres apart and the
height of one is double that of the other. 1 from the
middle point of the line joining their feet, an
observer finds the angular evaluation of their tops
to be complementary, then the height of the shorter
person in metres is

A) 3
[4]

(B) Tz

©) a2

Please Turn Over
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105. The 8% simple interest on a certain amount
of money for 3 years is half the 10% compound
interest on ¥ 8.000 for 2 years, The amount on
which simple interest is calculated

(A) ¥ 3,500
(B) ¥3,600
(C) T3,800
(D) ¥ 4,000

106. The angles of a triangle are in arithmetic
progression. If one of the angles is 75°, then the
other two angles are

B-14

| :
110. 40 mencomplete 3 rd of awork in40days.
How many more men should be employedto finish
the rest of the work in 50 more days?

(A) 12 3 m,{_ﬁ
(B) 20 ﬂ(c;’f‘ @F -
(C) 18 £h
(A
(D) 24 Ttp
/fz/&r

111. A train leaves place A at 5 am and reaches
place B at 9 am. Another train leaves place B at
7amandreaches place A at 10-30 am. At what time
do they cross each other?

(A) 65°,85° j‘,:q, (A) 6:56 am ;
(B) 60°, 90° Q 6, (B) 7-56 am Ly L o
(C) 45° 60° . '5,1(0 _(C) 8am G .-//’l/\//‘/‘i: Ja
(D) 55° 65° Uk (D) 830am f{;"l'

' ")%'1/ A

107. If 69-5 is the mean of 72, 70, x, 62, 50, 71,
90, 64, 58 and 82, then the value of x is

(A) 75
B) 67 N
©) 72 64
(9“
(D) 76 2 );}(t’p

108. A2-digitnumberis such thatthe unit’s digit
is four times the ten’s digit and if 54 is added to the
number, the digits are reversed. Then the number

18 A‘
(A) 14 i&
B) 28 7
)(C) 82 %/
(D) 41

109. A can with 30 marbles weighed 120gm.
The same can with 15 marbles weighed 95gm.
Then the weight of the can is

X0

(A) 50gm . _\10

(B) 60gm ~ Can+ Mo~ a6
— (C) 70gm \& =

(D) 80gm Cown - a5

Afz. If the radius of a circle is increased by 10%,

then the percentage increased in the circumference
of a circle is

— (A) 10%
(B) 20%
(C) 50%
(D) 15%

113. The sum of two numbers js 1400. If the
larger number is decreased by 20% and the smaller
number is increased by 20%, then the resulting
numbers are equal. The two numbers are )

(A) 740, 660
(B) 840, 560-
(C) 800, 600 — F®
(D) 820, 580

114. The monthly salaries of A and B are in the
ratio 3 : 5. Each receives an increment of 2 500. If
the ratio of their salaries now stands at 7: 11, then
the salary of A, before increment was

(A) T 2,500 _ 3{\
—(B) T3,000 }1)-51&' .
(€) T4,500 GAASY 3@r

6.,

B ©

%
06N o
#m—. 9.0'-'{ ‘:’

(D) T 4,000
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115, Train A crosses a pole in 25 seconds and
train B does the same in 1 minutes 15 scconds.
Length of train A is half the length of train B.
What is the ratio between the speed of A and B?

(A) 3:4
(B) 4:3
(C) 3:2
(D) 2:3

116. The product of the digits of a two-digit
number is 24. If its unit’s digit exceeds twice its
ten’s digit by 2, then the number is

(A) 64
(B) 46

AC) 38,
(D) 83

117. A shopkeeper buys a number of books for
Z 80. If he had bought 4 more books for the same
amount, each book would have costX 1 less. How
many books did he buy?

(A) 16
(B) 20
(C) 18
(D) 22

118. How many triangles are there in the
following figure?

/ \
(A) 19
(B) 21

~1C) 27
(D) 30

9;»6
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119. The given pie chart (not drawn to scale)
represents the annual performance of the students
of a class in terms of grades A, B, C and D. The
percentage of students who have got B grade is

(A) 40%
(B) 55%
(C) 60%
(D) 65%

120. The difference between compound interest
and simple interest for 2 years on ¥ 22,500 at
6% p.a. is

(A) T225
(B) T 181
(C) T8l

(D) T220

121. The ratio of the areas of a regular hexagon
and a square having the same perimeter is

(A) 243 :3
(B) 3 :2

©) 3J3:2
(D) 3:2

122. The sum of first 102 positive integers is

(A) 5250 \
% o
(B) 5251 ‘ji}_ﬂqf ,\'9\3
(C) 5252 / Yo3
(D) 5253 G156+

—5353
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123. If the number 472573+ g completely
divisible by 72, then which number should replace
the star?

(A) 4
(B) §
) 6
(D) 7

124, If the difference between 62% and 80% of

anumberis 198, then the difference between 92%
and 56% of the number will be

__(A) 39 ag
(B) 3564 \8% =T :
(C) 1100 Y. —
(D) 360

125. If the first and the third terms of a G. P. are
2 and 8 respectively, then its second term is

(A) -4
(B) 4
(©) 4
(D) 0

126. In a multiple choice exam of 30 questions,
acorrect answer earns 2 marks, an incorrect answer
loses 3 marks and an unanswered question scores
0 marks. If Raj left out 6 questions and his score
was 28, then number of questions hzﬁ::ls correcl

1S at
(A) 22 Deduct W '%"%
_ (B) 20 w42 — A
(C) 25 no -—-@\f‘ '
(D) 15

B-16

127. The lengthof the longest thin rod that can fit
inside a rectangular box that measuges 15¢m by
10cm by Sem is

/('A) 18- 7cm
(B) 17-2¢m
(C) 15:-8cm
(D) 202cm O

collinear, then which of the following is true?

(A) L42-
(D) +-=1

129. Two men undertake to do a piece of work
for ¥ 200. One alone can do it in 6 days, the other

in 8 days. With the help of a boy they finish it in
3 days. How much is the share of the boy?

(A) T20
(B) T25
(©) T30
(D) 40

130. 5% of a = b, then b% of 20 is same as
(A) 20% of a/p
(B) 50% of a/9q
(C) 50% of a/
(D) 20% of a/p(

131, Amal can do a piece of work in 12 days.
If Mihir is given the piece of work, then he will
complete it by

(A) 6 days 8 ﬁ. ?'%

— (B) 8 days \%

(C) 4 days
(D) 10 days
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1320 After spending 88% of his money, n boy
found he still had T 372 left, Initially he had

(A) T332
(B) T4.400
(©) T4.100
(D) T 3,100

133. Circle C, passes through the centre of circle
C, and is tangential to it. 1 the area of C,is4cm?,
then the area of G, is

(A) 8cm?
(B) 8Jr em?
(C) 16 cm?
(D) 16V cm?

134. How many bullets can be made out of alead
cylinder 56 cm high having a radius of 6 cm, each
bullet being 1:5 cm in diameter?

(A) 4000 X
(B) 5000 M
© 3590 *

(D) 3584

135. How much water must be added to 5 liters
of a90% acid solution to make a 75% acid solution?
(A) 55 liters
(B) 05 liter
(C) 1 liter
(D) 45 liters

136. Divide¥ 2,602 between X and Y, so that the
amount of X after 7 years is equal to the amount of
Y after 9 years, the interest being compounded at

4% per annum.
(A) T 1352, 1250

(B) T 1250, 1352
(C) T 1402, 1200
(D) T 1400, % 1202

B-17 CSM(C)10/22

137 A lonn amount T 11,000 is to be paid in
twoequalunnualinstallments, If the rate of interest

be 20% compounded annually, then the value of
each installment iy

(A) T7,200
(B) T7,100
(€) T 7,000
(D) 7,500

138. If a glass holds 275 ml, how many of these
glasses can be filled from a 2-liter drink of
lemonade? 0

(A) 8 full glasses p M

AB) 7 full glasses n-
(C) 9 full glasses \
(D) 6 full glasses

139. The average of 8 numbers is 6 and the
average of 6 other numbers is 8. What is the
average of all 14 numbers?

(A) 6

®) 6%
© 63
) 73

140. Capacity of tap B is 80% more than that
of A. If both the taps are opened simultaneously,
they take 45 hours to fill the tank. How long will B
take to fill the tank alone?

(A) 72 hours
(B) 48 hours
(C) 66 hours
(D) 70 hours

141. Inan examination, it is required to get 40%
marks to qualify. A candidate secured 150 marks
and failed by 10 marks. What are the maximum
marks of the examination?

(A) 500
B) 400
0 450
(D) 350
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142. A person gets X 3,700 per week plus 2%
commission on the sale of goods in excess of
T 10,000. If his a-week sales total is T 24,000, then
the week’s wages earned by the person is

(A) T 3,840
(B) ¥ 4,980
(C) T5,020
(D) T 4,280

143. Hospital is 12 km. towards east of Rupin’s
house. His school is 5 km towards south of Hospital.
What is the shortest distance between Rupin’s
house and school?

(A) 16 km
(B) 17 km
(C) 12km
(D) 13 km

144. A person was driving a car in fog. He
passed a pedestrian who was walking at the spffed
of 2 km/h in the same direction. The pedestrian
could see the car for 6 minutes and up to a distance
of 0.6 km. What was the speed of the car?

(A) 8km/h
(B) 10 km/h
(C) 40 km/h
(D) 12 km/h

145. The diameter of a rollar is 84 cm and its
length 120 cm. It takes 500 complete revolutions
to move once over to level a playground. Find the
area of the playground in sq. m.

(A) 1632
(B) 1584
(C) 1817
(D) 1532

B-18

146. The capacitics of two glasses are same,

They are filled with —g-rd part and %—th part of
water respectively. Remaining part of both the
glasses are filled with milk. If mixturt?s of bOﬂ:I the
glasses are mixed in a big glass, what s the ratio of
water and milk in it?

(A) 8:7

B) 5:7

(C) 7:3

(D) 9:2

147. If the value of the letter A is 1, B is 2 and so
on and the word BAT = 23, then the value of the
word DISCIPLINE is

(A) 100
(B) 110
(C) 250
(D) 150

¥
{

148. A dealer sold an article at a loss of 10%. If
he had sold for T 125 more, he would have gained
15%. The cost price of the article is

(A) 300
(B) T 500
(C) T 432
(D) T 1200

149. Asurveyinacity showed that the probability
that a person smokes is % .If40 people in a certain
sample smoke, then number of people in the sample
i

(A) 180
(B) 200
(C) 240
(D) 120
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150. A runs l;limcs as fast as B. If A gives

B astart of 40 m, how far must the winning post be
so that A and B might reach it at the same time?

(A) 7Sm

(B) 200 m
(C) 100 m
(D) 125m

I51. A plane left 30minutes later than the
scheduled time and in order to reach its destination
1500km away in time, it has to increase its speed
by 250kmvh from its usual speed. Then its usual
speed is

(A) 1000km/h
(B) 2500km/h
(C) 750km/h
(D) 800km/h

152. Average age of A, B and C is 36 years,
If average age of B and C is 30 years and age of
B is 22 years, then what is the sum of the ages of
A and C?

(A) 68 years tod — g_f_
(B) 86 years ?:OL =
(C) 58 years q

(D) 61 years

153. A cylindrical pillar of height 7-5 m and
diameter 3'5 m is to be painted. At the top and
bottom, 25 c¢cm of the pillar is covered by brass
plates and the remaining portion is to be painted.
Then the area of the pillar which is to be painted,
is

(A) 77 m?
(B) 196 m?
(C) 86 m?
(D) 75 m?

CSM(C)10/22

154. The perimeter of an isosceles triangle is
32¢m. Each equal side is |l times the base. Then
the length of the equal side is

(A) 8cm

(B) 10cm
(C) 12cm
(D) l4cm

155. Cost of coffee A and B are T 64 and T 80 per
100 gm respectively. A blend of two is sold at T 86
per 100 gm. If a profit of 25% is to be earned on this
blend, what should be the proportion of A and B in
its composition? —

(A) 8:5
(B) 9:2
C) 7:3
(D) 3:2

156. A merchant has 100 kg of sugar. He sells a
part of which at 9% profit and the rest at 9% loss.

He gains 5% on the whole. The quantity sold at 9%
loss is

(A) 18kg
(B) 20 kg
(C) 22-23 kg
(D) 25kg

157. A rectangular lawn 80 m x 60 m has two
roads each 10 m wide running in the middle of it.
One parallel to the length and the other parallel to
the breadth. Find the cost of gravelling them at
%20 per sq. m.

(A) T 35,000
*(B) T39,000
(C) T26,000
(D) T 41,000
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158. In the given Venn diagram, the triangle
represents female graduates, small circle represents
self-employed females and the big circle represents
self-employed females with bank loan facility.
Which number represents non-graduate self-
employed females with bank loan facility?

i
4 \Wag
7 4 ¢
5 8
6
-\ A
(A) 2
(B) 9
(C) 6
(D) 1

159. The difference between the greatest and
least numbers formed out of the digits 8,9, 0,7 is

(A) 9081

(B) 1809 a?30

(C) 2407 30 2
L-(D) 2781 242N

160. A certain sum of money amounts to T 756
in 2 years and to ¥ 873 in 3 and half years at a
certain rate of simple interest. The rate of interest

p.a. is 2x
(A) 10% ?'-'-1‘3
(B) 11% (3‘1
w | ©12% 3) L
./‘(D) 13% g,ﬁ'

161. The number of solid spheres, each of
diameter 6 cm could be moulded to form a solid
metal cylinder of height 45 cm and diameter4cm,

(B) 4
“(C) 5
(D) 6

is ﬁ)%
(A) 3 8 v £ ﬁ#*’/‘é 1

pp

B-20

162. Xis20% heavierthan Yand Zis 20% lighter
than ¥. The weight of Zis equal to

(A) %ofx 4 2;
3 e, o 2
(B) 3 of X v e
3
(C) '?:ofX
2
'/(D) gofX

163. The cost price and the selling price of a bag
are in the ratio 4 : 5. The profit is

(A) 20%
v (B) 25%
(C) 30%
(D) 35%

164. If one-third of one-fourth of a numberis 20,
then one-tenth of that number is

_AA) 24 Lo
(B) 36 Afy A = 20
_ © 45
1) O 5 A 20
\2-
n. 140

165. Ifinatriangle of base 4 cm and height 3¢,
the height is increased by 3cm, find by how much
the base should be decrgased, if the new area 1
twice that of the ongmal\mangle
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166. Fourequal squares are cut out of a square as
shown in the diagram. If the perimeter of the
ongmal square was 36.¢cm, then the perimeter of

the shaded region is X X X
(A) 30cm 7/V .
" (B) 36cm /‘
(C) 32cm %
(D) 40cm
ya-13
oA -;/-
=

167. A company with 1000 shares of nomi%al
value ¥ 150 declares an annual dividend of 10%.
Then the total amount of dividend paid by the

company is
“ (A) T15,000 160X \$0

(B) ¥ 10,000 y \c;mﬂ?
(C) T 1,000 o
(D) T 1,500

168. In a certain positive fraction, the
denominator is greater than the numerator by 3. If
1 is subtracted from the numeratorand denominator

both, the fraction reduces by 1—14- . Thenthe fraction
is
(A)
(B)
©)

(D)

169. A point Pdivides the line Joining the points
(2,1)and (5,-8)inratio 1 : 2. Also, the point P lies
on the line 2x =y + k = 0. Find the value of k.

(A) 6
(B) -8
(C) -6
(D) 8

B-21 CSM(C)10/22

170. The population of a town increases 5%
annually, if its present population is 74970, what it
was two years ago?

(A) 64200 Ay 15 £ oo
lob 79 \
A7 (B) 68000 ; 'f 2
(C) 63155 _ vyﬂ{ 7 /
(D) 72000 e

171. In a State, each year the number of road
accidents is decreased by 5% from the previous
year due to road safety campaigns. The number of
road accidents in the current year is 2916. 3 years
ago this number was

(A) 4000
(B) 5100
(C) 3890
(D) 5000

172. Due to 25% fall in price of eggs, one can
buy 2 dozen eggs more than before by investing
¥ 200. What was orginal price per dozen?

6 -
. 300 '
B) T—= “Bewo| bew
400
(© T — ls*%l
! i
700 -
D5

173. In :iAABC. it is given that ZC =90° and
tan 4 = —-5 , find the value of

(sinA cosB + cosA sinB),

(A) 1

B,
(B 5

(© 0
(D) 3

Please Tyrn Over — ————
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174. 1f cotO=-— and 0 is not in the first

quadrant, then find the value of tan0 - secl.
(A) 1

(B)
©)

(D)

Bl |w w| s

175. The difference between the squares of two
consecutive numbers is 65. The greatest number is

(A) 33 o
- (B) 34 x -y =65

(©) 35 o Anp) =@5
e 55 AT

/—
176. By selling an article for T 31 a shopkeeper

loses 7%. If he sells the article for T 35, then what
is gain or loss per cent?

(A) Loss 3% as?l —7 3\
' (B) Gain5% g ¥
(C) Lo§s 5% %, o
(D) Gain 3% "’9-7‘.(}/ -
-

f

177. How many times will the hands of a clock
cross each other in a day?
(A) 24
(B) 23

— (©) 22
(D) 25

178. What sum of money will amount 10¥520in
5 years and to ¥ 568 in 7 years at simple interest?
L (A) T400
(B) T 120 24

(C) T510

(D) X220

s

13-22

Two vertices of an equilateral triangle are
What is the area of the lriang]c?

&

179.
origin and (4, 0).

(A) 4 sq. unit

(B) J'—’: s unit
(C) 4\/3 s(. unit
(D) 243 sq. unit

°

&

180. In the following figure, ABCD is an
isosceles trapezium. AB | €D, AB =9 cm,
cD =lZcm,AP:PD=BQ:QC=I:2.FindPQ_

A B
P Q
D C
(A) 11cm
1
B) 10—
(B) 2cm
(C) 10cm
1
(D) 45 cm
a+b b+ c+
181. ["‘_“ P 0
m" | m© m* ’
(A) O
(®) 5
© 3
(D) 1
3
182. The value of V64 +Y-64
e va: ue of \ﬁz‘») 72 is
(A) 3
2
(B) 9
) 1
2
(D) 3
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183. In what time will simple interest be %’ of
the principal at 8% p.a.?
(A) 8 years
(B) 7 years
\/(C) 5 years
(D) 6 years

184. A man walking with % of his usual speed,
reaches office 20 minutes late. His usual time is
(A) 50 minutes
¥ (B) 80 minutes
(C) 70 minutes
v~ (D) 60 minutes

185. A man rows a boat 18 km in 4 hours
downstream and returns upstreamin 12 hours. The
speed of the stream (in km/h) is

A) 1
V((B; 15 or 5 %J * L;_
. 4.
C) 2 \'s 3
(D) 175

186. Allstudentsofaclasslike Horlicks, Maltova
or Viva. Number of students wholike only Horlicks
and Maltova, only Maltova and Viva and only
Horlicks and Vivaare equal to twice the number of
students wholike all the three health drinks. Number
of students who like only Horlicks, only Maltova
and only Viva are all equal to thrice the number of
students who like all three. If four students like all
the three health drinks, then find the number of
students in the class.

(A) 64
(B) 48
(C) 68
(D) 52

R R 6 T g A

B-23
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187. If a man sells two horses for T 9,900 each,
gaining 10% on one and losing 10% on the other.
His loss is

(A) 22 (oxie8 v, Loy
®) 1 oo

(C) T3 \*

D) T8 -

188. The difference between compound interest O
and simple interest on a sum for 2 years at 8% p.a.
is ¥ 768. Find the sum.

(A) T 1,10,000 .:
(B) % 1,20,000 ﬁ:ﬂ
(C) ¥ 1,00,000

(D) % 1,70,000

189. If the ratio between 8 and 11 is the same as
the ratio of (2x—y) to (x + 2y), find the value of -g—i ;

; y

(A) 3 g 2n-y
3 T oy

(B) 5

il qan-y = ey

b)

© 29— BX ALY HIY

(D) % 14 = 27Y

n 21
o1 2 v oW
LV &S

190. Railway fares are increased by 50%. To
return to the original rates they must be reduced by
(A) 33%

1
®) 335%

v (©) 33%%
|
(D) 33%
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191. fa=25%of b=10%of c,thena :bic="

(A) 2:5:6 \0
(B) 2:5:7 atl? « b¥
©) 1:3:11 L

v (D) 1:4:10

192. Aarti, Vinita and Kamala became partners
in a business by investing money in the ratio
5:7:6.Nextyear, they increased their investment
by 26%, 20% and 15% respectively. In what ratio
profitearned during 2nd year should be distributed?

v (A) 21:28:23
(B) 23:28:21
(C) 28:23:21
(D) 21:23:28

193. Find the angle between the two hands of a
clock at 2-:30 pm.

(A) 100°
L~ (B) 105°
(C) 210°
(D) 70° \20- \S
; ot

194. Rima has T 1000 in denominations 'nf
T 5and T 2 coins. If the number of two-rupee coins

195 AH,,,,,;,['!‘?,U(mistlividctl;nmmu/i.ﬂand
¢ in such a way that the shares of A and B are js
rtin2:3 and that of and Care inratio4:5, Then

(he share of € %

(A) 12,600
(B) T 2,800
() T 3,000
(D) T 3,900

—

[/
196. If the market price of a commodity is 32%
more than its cost price and if 16% discount is
given, then profit percentage is

6
(A) profit9 i 32-1-
(B) profit 10 +32-b- 75
v (C) profit 10.88 ey
(D) profit 11 406-5
» 1
\:lt,

197. If the cost of 57 articles is equal to the

§elling price of 38 articles, then percentage profit
is

(A) 20% :
(B) 30%

v~ (C) 50%
(D) 55%

198. Find the value of

1 i 1
Vs-\s-v2a 55424
|

: ot A =
Rima has is five-cighths of the number of five- ( V3
rupee coins, then ﬁinl_lpcc coins Rima has /.,q (B) L
(A) 100 . 2 V3
) tﬁ 1?2 3 |
(B) 120 - . © 3
) 3
v (C) 160 . ‘ |
(D) 200 5% ¢ ®) -3
\ £ S = G ’
Q’b (72 = Y9
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199. When 2 is expressed in decimal form, the 200. The ratio of investments of two partners is
e e 7 I'1: 12 and the ratio of their profits is 2 : 3. If A
digitin the 19th decimal place is invests the money for 8 months, find for how much
(A) S time B invests his money?
(B) 8 « (A) 11 months
© 7 v (B) 8 months /?,
D) 1 (C) 4 months \\ £ * ey
(D) 6 months \[z,f o
5 o
ook 14> TR
a9 AW
K @ b = 10 «C 3
3'3 0 \ @& @' 10 £ "z 13
yi - Sl o o\ =
/7’% s Téb 2 C Y\") - ‘fgj'
\ ~
/a{ s = 108 fv“’“ )
c,l;b AAKID ~
\
@ K h e
® e et
\8 C = | 26 ' 16’56&?{
AQ el 2. 5} .
o oo
Lo
120RG = \ i
» AP ;
neo KTE o g5 Cg@
w?* " "
e
v
TS
[l F00 ; 610 A {0
7. Sy )
&"'?67. b 2o (\g d(): ‘20*32: \QZ/'
A N N
S A, 614 i n . 2
2o 2‘-: 2?..2? l'qzm- /i/g ‘6: Zgé
Y 4da /’/
LE/AL /
s £ |
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